
WURTH USA
ASSORTMENTS
Includes the new 2015 AB Clip Assortment!



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

ASSORTMENTSASSORTMENTS



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

ASSORTMENT INDEX
Description Art. # Page

8.8 Hex Bolt (Zinc Plated) - Metric 196400004 17

A/B Clip Assortment 196460201 - 
196460212 4 - 9

AC Orifice Tube 1964176474 65

Aluminum Sealing Ring 19640463 24

Battery Terminal w/ Solder Slugs & Heat Shrink 196405572 59

Battery Terminal w/ Solder Slugs & Heat Shrink 19641510 59

Black Tie Strap 196415021 63

Black Tie Strap - Assorted w/Rack 196415022 63

Brass Air Brake Fitting 196488401 72

Brass Fitting 196488402 73

Brass Push to Connect D.O.T. Air Brake Fittings 196488501 72

Bulb - Domestic & Japanese   19641721 56

Bulb - Duratek Master 196417201 58

Bulb - European 19641720 57

Copper Sealing Ring 19640460 24

Cotter Pin 19641470 42

Cotter Pin - Metric 19640470 22

Crimp & Seal Electrical Connector 196415591 53

Crimp/Solder/Seal Connector 196415592 53

Drain Plug 19641241 44

Drain Plug Sealing Ring 196414602 44

Drill Bit 1964627120 75

Drill Bit Dispenser Packages 196424751 95

Drill Bit Dispenser Packages 196427752 95

Drill Bit Dispenser Packages 196424753 95

Drill Bit Dispenser Packages 196424754 95

Drill Bit Dispenser Packages 196424756 95

E-Clip - Metric 19640490 22

Ear Clamp 19640541 46

European Clip 1964150010 80

Fender Washer - Metric 19640411 19

Flange Bolt - Metric 19641274 15

Flat & Lock Washer 1964140742 40

Flat Washer - Metric 19640407 18

Fuses - Assorted 19641730 60

Fuses - ATO Mini/Maxi 196400008 62

Description Art. # Page

Fuses - Max/Mini Blade 196417312 61

Fuses - Mini Blade 196417311 61

Fuses - Regular Blade 196417310 60

Grade 5 SAE Zinc Hardware 19651071 86

Grade 5 USS Zinc Hardware 19651072 87

Grade 8 SAE Yellow Hardware 19651075 85

Grade 8 USS Yellow Hardware 19651076 84

Grade 8.8 European Yellow Metric Starter 196500570 82

Grade 8.8 European Zinc Metric Hardware 19650057 81

Grade 8.8 ISO (Japanese) Zinc Metric Hardware 19650060 83

Grease Fitting - Metric 19640986 73

Grease Fitting Metric & Standard 19640986 75

Hardware (Zinc Plated) - Metric 19640057 11

Hex Bolt - EURO/SO Metric 196400005 13

Hex Nut - Metric 19640317 20

Hex Nut USS/SAE Zinc 1964033031 41

Hex Nut/Flange Nut/Fender Washer - Metric 196400002 21

Hex Tek 19640214 32

Hex Washer Head Slotted 19640130 36

Import Exhaust Hardware 19640366 11

License Plate Screw 19641210 31

Lug Nut - Metric 196413692 14

Lug Nut - Standard 196413691 45

Metal Gasket 1964076501 70

Multiple Wire Shrink Connector & Tubing 196415590 55

Nylon Insulated Electrical Connector 19641559 52

Nylon Lock Nut - Metric 19640368 19

Nylon Nut 1964150133 77

O-Ring - Asian/Standard AC 1964176410 68

O-Ring - Chrysler Master AC 1964176408 67

O-Ring - Domestic 1964076500 64

O-Ring - Euro Standard/Metric AC 1964176409 69

O-Ring - Ford Master AC 1964176407 67

O-Ring - GM Master AC 1964176406 66

O-Ring (M3-M24)(Not for AC Application) - 
Metric 196404681 23

O-Ring (Not for AC Application) 196404685 65



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

Description Art. # Page

Pan Head Machine Screw - Metric 19640047 21

Pan Head Sheet Metal Screw - Zinc 196400009 30

Phillips Countersunk Self Tapping Screw 19640117 30

Phillips Pan Head Machine Screw 19640035 42

Push Nut/Washer 1964150114 78

R12 to R134 Retro Fit Adaptor 1964176497 71

Retainer Clip 1964150117 79

Rivet - Aluminum 19641914 76

Rivet - Plastic 19641948 77

Rivet - Steel 19641935 76

Rivet & Nutsert 196400006 74

Rubber Grommet 196405616 47

SAE Grade 5 Hardware 19640071 37

Sealing Washer 1964076502 70

Self Tapping Hex Head w/ Washer 19640129 31

Self Tapping Oval Countersunk Stainless Steel 
Screw 19640124 33

Self Tapping Pan Head Screw 19640115 25

Self Tapping Pan Head Stainless Steel Screw 19640119 33

Self Tapping Phillips Head Oval Countersunk w/ 
Cup Washers - Black 19640137 27

Self Tapping Phillips Pan Head Countersunk Stain-
less Steel w/ Cup Washer 19640123 34

Self Tapping Phillips Pan Head Regular & Coun-
tersunk 1964011517 25

Self Tapping Phillips Pan Head Regular & flat 
Countersunk Stainless Steel 1964011923 34

Self Tapping Phillips Pan Head Screw - Black 19640134 27

Self Tapping Screw 1964000010 28

Self Tapping Screw - Black 1964000012 26

Self Tapping Washer Head w/ Cup Washers - 
Black 196401340 26

Sems/S-T/Black Washer Head Screw 1964000011 29

Shims/Escucheon/Cotter Pin 196400007 40

Shrader Port Cap - AC 1964176498 71

Shrink Tube 196407710 58

Socket Head Screw (Zinc Plated) - Metric 19640084 16

Solder/Seal Connector 196415552 54

Solder/Seal Electical Connector 196415553 54

Square Drive Screw 19641212 32

Stainless Steel U.S. Cotter Pin 19641474 35

Description Art. # Page

Stainless Steel U.S. Hardware 19641095 35

Stud - Metric 19640250 14

Tracer Wire 196417709 62

U-Nut & Body Bolt 1964150112 78

USS Grad 5 Hardware 19640072 39

USS Grade 5 Hex Bolts/Nut 196400001 38

USS/SAE Manifold Stud 19641252 43

USS/SAE Nylon Lock Nut 1964037374 41

Vacuum Connector 196415009 45

Vinyl Insulated Electrical Connector 196405581 51

Washer Flat SAE/USS/Metric 196400003 23

Washer Hardware (Zinc Plated) - Japanese Metric 19641060 12

Weather Pak Connector 196415593 55

Wheel Weights - AW Series Steel 1964830137 90

Wheel Weights - BMN 2 pc. Coated Series Zinc 1964830741 93

Wheel Weights - EN Series Steel 1964830139 91

Wheel Weights - FN Series Steel 19640149 89

Wheel Weights - IAL Series Zinc 196483062 92

Wheel Weights - IAW Series Steel 196401211 88

Wheel Weights - LH Coated Series Steel 1964830240 91

Wheel Weights - LT1 Series Steel 1964830292 92

Wheel Weights - MBN 2 pc. Coated Series Zinc 196483075 94

Wheel Weights - MC Series Steel 19640135 89

Wheel Weights - P Series Steel 19640136 88

Wheel Weights - RUC Specialty Adhesive Series 
Zinc 1964830912 93

Wheel Weights - T Series Steel 19640158 90

Wire Harness 1964556 51

Xmas Tree Retainer Clip 1964150115 79

Yellow Flat/Lock Washer - Metric 1964040701 18

Yellow Hardware (Yellow Plated) - Metric 196400570 12

Yellow Hex Nut - Metric 196403170 20

ALSO AVAILABLE:
Description Page 
Large Assortment Box & Inserts 96

Storage 97



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

4

196460201 - Total Pcs. 425
Art. # Description Qty.
150121146 Bumper, Fender, Grill, Int and Ext Trim Pill 20
150121325 Toyota Turn Signal Light General Purpose 10

150155029 Toyota Screw Type Retainer 60

150155156 Screw Type Retainer 60

150155180 Honda Screw Type Retainer 30

150155461 Quarter Panel Wheel Opening Moulding 10

150155574 Nissan Front Bumper Fascia Clip 30

150155593 Screw Type Retainer Sill Plate 30

150155596 Retainer Screw Type - Honda Fender Splash Shield 30

150155622 Toyota Retainer 10

150155680 Toyota Rocker Panel 15

150155704 Nissan Bumper Screw Type Retainer 15

150155725 Rocker Panel & Garnish Moulding 15

150159520 Front & Rear Bumper Retainer 15

150155581 Cowel Panel to Reinforcement Plate & Engine Splash Shield 30

150155591 GM Radiator Grill Retainer 15
150155603 Honda Bumper Fascia Retainer 30

196460202 - Total Pcs. 395
Art. # Description Qty.
150120826 Buick, Cadillac, Chevy, Pontiac Fender Apron 50
150120869 Toyota Front Fender Liner Retainer 10

150120908 Toyota Fender Splash Shield Retainer 10

150120931 Toyota Bumper Cover & Grill Push Type 20

150120955 Engine Under Cover Push Type Retainer 15

150120986 Front Bumper Push Type Retainer 15

150121011 Push Type Retainer 20

150121173 Bumper & Splash Shield Retainer with Metal Insert 15

150121192 Cowl, Bumper & Fender Liner Retainer 15

150121201 Bumper Radiator Cover and Grill 5

150121225 Wheel Opening Push Type Retainer 5

150121294 Toyota Radiator Splash Shield Push Type Retainer 25

150121420 Bumper, Engine Cover, Fender & Grill Retainer 20

150121422 Front Bumper & Quarter Panel Push Type Retainer 15

150121651 Fender Push Type Retainer 30

150121658 Mitsubishi Push Type Retainer 15

150121680 Bumper Push Type Retainer 30

150155117 GM Front Fender Skirt 1981+ 30
150155146 Splash Shield Fascia Retainer Black 50

A/B CLIP ASSORTMENT - DRAWER #1: SCREW TYPE RETAINERS

A/B CLIP ASSORTMENT - DRAWER #2: PUSH TYPE RETAINERS



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

5

196460203 - Total Pcs. 460
Art. # Description Qty.
150155323 Door Cowl Retainer 25
150155325 Air Baffle To Under Carriage Push Type Retainer

30
150155325 Air Baffle To Under Carriage Push Type Retainer
150155326 Rocker Panel Wheel Liner & Air Inlet Duct

60
150155326 Rocker Panel Wheel Liner & Air Inlet Duct
150155445 Toyota Rear Bumper Cover Retainer 15
150155462 Toyota Front Fender Liner Push Type Retainer 15
150155463 Front Fender Push Type Retainer 20
150155479 Nissan Bumper Retainer 10mmx18mm 15
150155494 Chrysler Pin Drive Retainer 20
150155500 Honda/Acura Bumper Push Type Retainer 15
150155507 Nissan Drive Retainer Reusable 15
150155512 Honda Drive Retainer Front & Rear 15
150155514 Honda/Acura Drive Retainer M8 30
150155520 GM Drive Retainer Rear Bumper 10
150155582 Drive Type Retainer

60
150155582 Drive Type Retainer
150155669 Honda / Mitsubishi Fender / Bumper Retainer 20
150155614 Splash Shield Fascia Retainer

30
150155614 Splash Shield Fascia Retainer
150155694 Toyota Fender Liner Retainer 15
150155705 Nissan Bumper Clip 15
150155708 Nissan Bumper Fascia Push Type Retainer 10
150156108 Radiator Wheel House Fender Push Retainer 25

196460204 - Total Pcs. 530
Art. # Description Qty.
150120910 Door Panel Push Type Retainer 25
150121190 Interior Trim Push Type Retainer 15

150121249 Toyota Bumper Cover Push Type Retainer 25

150155508 Push Type Retainer 7mm 5

150155600 Import Drive Type Retainer 20

150121229 Hood Seal Retaining Clip 25

150152023 Weatherstrip Clip - Toyota 30

150152036 Weatherstrip Clip - Lincoln 60

150152039 Weatherstrip Clip - Chrysler
120

150152039 Weatherstrip Clip - Chrysler

150152052 Weatherstrip Clip - Honda 30

150152070 Trim Panel Clip 60

150153165 Hood Weather Strip Clip - Honda/Acura 30

150155590 Honda Retainer Clip 60
150155640 Honda Hood Seal Retainer Clip 25

A/B CLIP ASSORTMENT - DRAWER #3: PUSH TYPE RETAINERS

A/B CLIP ASSORTMENT - DRAWER #4: PIN TYPE & PLASTIC RETAINERS



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

6

196460205 - Total Pcs. 270
Art. # Description Qty.
150120959 Acura / Honda Door Panel Retainer 25
150121102 Toyota / Lexus Door Trim Panel Retainer with Sealer 15

150121240 GM Door Panel Retainer with Sealer 25

150121289 Nissan Trim Panel Retainer 25

150153174 Front/Rear Door Retainer 50

150153216 Ford Door Trim Panel Retainer 30

150120687 Toyota Moulding Clip 10

150120688 Toyota Moulding Clip 10

150120774 GM Moulding Clip 15

150121226 Rocker Moulding Retainer 30

150155654 Toyota Rocker Panel 1997+ 15

150155684 Toyota Fender Clip - Blue 10
150155685 Toyota Fender Clip - Red 10

196450206 - Total Pcs. 745
Art. # Description Qty.
150120757 Lexus / Toyota Front Fender & Bumper Retainer 15
150120758 Front Fender & Bumper Cover Clip 10

150120961 Drip Moulding Clip with Sealer (Not Available from O.E.M.) 20

150121016 Fender Flare & Bumper Clip 25

150155538 Honda Rear Bumper Retainer 10

150159636 GM / C&K Trucks Front Air Grommet 25

150155585 Fascia Retainer 60

150159637 GM / C&K Trucks Front Air Deflector Retainer 15

150152074 Ford Trim Panel Retainer 60

150155045 Plastic Shield Retainer 1978+ 120

150155051 Radiator Yoke, Fender & Bumper Shield Retainer 100

150155397 Engine Compartment Retainer 60

150155399 Trim Panel Retainer 30

150155417 GM Black Plus Bumper Clip 30

150155575 GM Vinyl Shield Radiator Clip
60

150155575 GM Vinyl Shield Radiator Clip

150155599 Ford Explorer Black Plus Retainer 60

150157080 Fender Liner/ Mud Flap Retainer 15
150159018 Ford Fascia To Bumper 1981 - 1985 30

A/B CLIP ASSORTMENT - DRAWER #5: TRIM PANEL & ROCKER MOULDING RETAINERS

A/B CLIP ASSORTMENT - DRAWER #6: SPECIALTY & X-MAS TREE RETAINERS



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

7

196460207 - Total Pcs. 165
Art. # Description Qty.
150155143 Nissan Hood Insulation Clip 25
150155644 Lexus Hood Insulation Retainer, M7 x 10mm Stem Length 15

150155741 Acura / Honda Hood Inslation Retainer 2000 - 2004 25

150157004 GM Hood Insulation Cup
60150157004 GM Hood Insulation Cup

150157004 GM Hood Insulation Cup

150157044
Toyota / Lexus Hood Insulation Reatainer, 
M8 x 12mm Stem Length

15

150157045
Toyota Hood Insulation Retainer, 
M8 x 16mm Stem Length

15

150157049
Toyota Hood Insulation Retainer, 
8.5mm x 17mm Stem Length

10

196460208 - Total Pcs. 450
Art. # Description Qty.
150120627 Toyota Specialty Rivet 10
150120787 Aluminum Rivet with Plastic Cap Steel Mandrel 15

150120788 Lexus Rivet 25

150121082 Windshield Rivet with Plastic Cap 15

150159670 Toyota Gas Filler Rivet with Seal, M5 10

150119458 Ford “Peel-Type” Rivet 10

150120971 Split Type Rivet 25

150121245 Bumper Cover Split Type Rivet 10

150151155 Ford Windshield Side Rail Rivet 30

150152072 VW Blind Rivet Wheel Opening 30

150155356 Chrysler Blind Rivet Sealing 30

150155475 Ford Blind Rivet Aluminum 15

150155592 Ford 3/16” Rivet LP Frame 30

150155598 Split Type Rivet 20

150155746 Chrysler Split Type Rivet 5/32” Diam. Alminum 1999 - 2004 25

150159225 Glass Stop Rivet 1/4” 30

150159276 Volvo Aluminum / Black Bumper Rivet 30

150159471 1/4” Zinc/Phosp “Peel-Type” Rivet 30
1948371 Window Regulator Rivet 60

A/B CLIP ASSORTMENT - DRAWER #7: HOOD INSULATION RETAINERS

A/B CLIP ASSORTMENT - DRAWER #8: SPECIALITY RIVETS



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

8

196460209 - Total Pcs. 1,195
Art. # Description Qty.
19141818 Butt Head Rivet 1/8” Hole Alu/Alu 1/4” Long 120
19141814 Butt Head Rivet 1/8” Aluminum / Aluminum 3/8” Long 120

191411814 Butt Head Rivet 1/8” Al/ Al Dia Lg Fl 3/8” Long 120

091553280 Zebra Round Flat Head Blind Rivet 1/8” x 5/16” Long 100

191431614 Butt Head Rivet 3/16” Hole Alu/Alu 3/8” Long 120

191431638 Butt Head Rivet 3/16” Hole Alu/Alu 1/2” Long 100

1914131638 Butt Head Rivet 3/16” Hole Alu/Alu 1/2” Long 100

150121327 GM Cowl, Pillar, Trim Panel & Windshield Rivet 25

150155188 Blind Rivet 30

150155380 Chrysler Blind Rivet Tough M6.3 Flg17 1981+ 30

150159405 Black Nylon Rivet 30

150159601 Plastic Rivet 5mm (1/8”-15/64”) 60

150159602 Plastic Rivet 5mm (15/64”-25/64”) 60

150159603 Plastic Rivet 6.3mm 60

1948185 Plastic Rivet 6.6mm 60
1948186 Plastic Rivet 6.6mm 60

196460210 - Total Pcs. 1,425
Art. # Description Qty.
150159238 Spring Nut #8 120
150159599 Tek Screw Phillips Washer #8x1/2” 120
150120455 Phillips Truss Head Tapping M4.8-2.12x20mm 50
150153108 Black Tek Screw 11 Washer M4.2x16mm 120
150159318 U Nut #10 25
150159240 U Nut #8 120
150120954 Acura / Honda Door Panel Retainer 25
150159640 Truss Head Sems Black #10x3/4” 25
150155608 Screw Grommet 30
150155642 Fender Lining Screw Grommet 15
150155652 Toyota Fender Liner Screw Grommet 15
05007747 Toyota Screw Grommet 60
150155280 Radiator Grill Nut 30
150159292 GM License Plate Nut 120
150159152 Phillips Washer Head Teks Screw #8x1/2” 120
021031 Hex Head Sheet Metal Screw #14x3/4” 30
150159042 Hex Sems with Washer #14x5/8” 50
150159050 Hex Sems with Washer #14x1” 60
150159054 Hex Head Sems Tek with Washer #8x25/32” 60
150159059 Hex Head Sems with Washer #8x5/8” 60
150159146 Hex Head Screw with Washer M4.2x20mm 60
150159378 Indent Hex with Washer M4.2-1.41x20mm 60
150159447 Hex Sems with Washer M6.3x20mm 50

AB CLIP ASSORTMENT - DRAWER #9: ALUMINUM & PLASTIC RIVETS

AB CLIP ASSORTMENT - DRAWER #10: SCREWS-SPRING U-NUTS-GROMMETS



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

9

196460211 - Total Pcs. 540
Art. # Description Qty.
150159040 Body Bolt Hex Head Sems Phosphate M6-1.0x25mm

60
150159040 Body Bolt Hex Head Sems Phosphate M6-1.0x25mm

150159049 Ford Fender M6-1.0x28mm 30

150159056 Hex Head S-Tap Screw M6-1.0x20mm 60

150159338 Hex Head Body Bolt with Fixed Washer M8-1.25x25mm 30

150159337 Body Bolt Hex Head Sems Phosphate M8-1.25x30mm 30

150159345 Body Bolt Hex Head Sems Phosphate M8-1.25x25mm 30

150159452 Chrysler Slotted Hex Washer Head Zinc M6-1.0x20mm 100

150159379 Body Bolt Hex Head Sems Phosphate M6-1.0x25mm 30

150159390 Body Bolt Hex Head Sems Phosphate M6-1.0x20mm 30

150159409 Hex Head / Conical Washer M6-1.0x20 mm 30

150159359 Body Bolt Hex Head Sems Phosphate M10-1.5x40mm 20

150159463 Body Bolt Hex Head Sems Phosphate M6-1.0x16mm 30
150159594 Body Bolt Hex Head Sems Phosphate M6-1.0x25mm 60

196460212 - Total Pcs. 705
Art. # Description Qty.
150159329 GM Fold Nut M6.3-1.0 30
150159330 GM / Ford Fold Nut M8-1.25 30

150159331 GM / Ford Fold Nut M8-1.25 30

150159357 GM Extruding U Nut M5-0.8 25

150159365 GM / Ford Fold Nut “U” M6-1.0 60

150159370 GM Metric U Nut M6-1.0 30

150159332 GM Fold Nut M10-1.50 30

150159079 Free Spinning Washer Nut M10-1.5, 13mm high 25

150159340 Free Spinning Washer Nut M8-1.25, 10.5mm high 30

150159366 Free Spinning Washer Nut M6-1.0, 7mm high 60

150159369 Free Spinning Washer Nut M6-1.0, 9mm high 60

150159442 Free Spinning Washer Nut M5-0.8, 7mm high 30

150121215 Quarter Glass and Luggage Rack M6-1.0 10

150159651 Ford / GM Specialty Insert with Sealer M6-1.0 15

150155097 Metric Pushnut Bolt Retainer for Threaded Fasteners 120
150159323 Pushnut Bolt Retainers for Threaded Fasteners 120

AB CLIP ASSORTMENT - DRAWER #11: BODY BOLTS

AB CLIP ASSORTMENT - DRAWER #12: U NUTS, WASHER NUTS, PUSH NUTS, RIV NUTS



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

10

Includes 3-year Gold Advanced Warranty:
• Manufacturer defects
• Covers normal wear & tear
• Comprehensive coverage for
 accidental breakage
• Includes all materials, parts, and labor

• Equipment replacement
• Phone support for Motorola Core Product 
 Software, including software releases
• Application loading and
 configuration management

*No warranty. May require USB adapter (Art.# 19990038 @$25.99).

New MT 2070 Scanner:
Art.# 19990039 @ $1,295

CS 1504
ORSY or Purchase (Art.# 19990037 @$124.99*).

• Full Capacity (for High Output Shops requiring  
 remote processing):
 o Bluetooth technology replaces the old Radio  
  Frequency systems which...
  • Increases usage distance from port, up to 300 ft.
  • Does not interrupt existing wireless systems or  
   stress their bandwidth with added processing
  • Increases speed of data conformation to  
   ports
 o Process virtually all of the SIS functions that do  
  not require a screen status remotely from  
  anywhere in the shop
 o Heavy duty and easy to use design

• Memory Scanner:
 o Scan remotely and upload by attaching to your computer, 
  letting SIS 12 do the rest
 o Requires Barcode system sheet to input scan information

SIS SCANNING SOLUTIONS FOR ALL



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

11

IMPORT EXHAUST HARDWARE ASSORTMENT

METRIC HARDWARE ASSORTMENT (ZINC PLATED)

19640366 - Total Pcs. 480
Art. # Description Size Qty.
 0057825 Hex Head Bolt M8x1.25x25x13WR 25
0057625 Hex Head Bolt M6x1.0x25x10WR 25
031712171 Hex Nut M12x1.25x17WR 25
031710141 Hex Nut M10x1.25x14WR 25
03171015 Hex Nut M10x1.5x15WR 25
031710 Hex Nut M10x1.0x17WR 25
03178 Hex Nut M8x1.25x13WR 25
0317812 Hex Nut M8x1.25x12WR 25
036910149 Metal Lock Nut M10x14WR 25
03667 Copper Nut Slotted M10x1.25x14WR 25
03663 Copper Nut Slotted M10x1.5x15WR 25
03652 Copper Nut Slotted M8x1x13WR 25
03662 Copper Nut Slotted M8x1.25x12WR 25
036565 Copper Nut Hex Flange M10x1.25x15WR 25
036561 Copper Nut Hex Flange M8x1.25x13WR 25
03658 Copper Nut Hex Flange BMW M8x1.25x12WR 25
03653 Copper Nut Hex M10x1.5x17WR 25
02508381 Stud Full Thread VW M8x40 10
025046 Exhaust Stud VW M8x1.25x46 10
02501040 Stud w/ Collar P Thread M10x40 10
0369812 Metal Lock Nut MB M8 25

19640057 - Total Pcs. 490
Art. # Description Size Qty.
00571030 Hex Head Bolt M10-1.5x30x17WR 5
00571025 Hex Head Bolt M10-1.5x25x17WR 5
00571020 Hex Head Bolt M10-1.5x20x17WR 5
0057835 Hex Head Bolt M8-1.25x35x13WR 5
0057830 Hex Head Bolt M8-1.25x30x13WR 5
0057825 Hex Head Bolt M8-1.25x25x13WR 10
0057820 Hex Head Bolt M8-1.25x20x13WR 10
0057816 Hex Head Bolt M8-1.25x16x13WR 10
0057812 Hex Head Bolt M8-1.25x12x13WR 10
0057635 Hex Head Bolt M6-1.0x35x10WR 10
0057630 Hex Head Bolt M6-1.0x30x10WR 5
0057625 Hex Head Bolt M6-1.0x25x10WR 10
0057620 Hex Head Bolt M6-1.0x20x10WR 10
0057616 Hex Head Bolt M6-1.0x16x10WR 10
0057612 Hex Head Bolt M6-1.0x12x10WR 10
031710 Hex Nut M10X1.5 25
03178 Hex Nut M8X1.25 50
03176 Hex Nut M6X1.0 50
040710 Flat Washer 10MM 25
04078 Flat Washer 8MM 50
04076 Flat Washer 6MM 50
044110 Lock Washer 10MM 25
04418 Lock Washer 8MM 50
04416 Lock Washer 6MM 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

12

METRIC YELLOW HARDWARE ASSORTMENT (YELLOW PLATED)

JAPANESE METRIC HARDWARE ASSORTMENT  (WASHER ZINC PLATED)

196400570 - Total Pcs. 490
Art. # Description Size Qty.
00571030 Hex Head Bolt M10-1.5X30x17WR 5
00571025 Hex Head Bolt M10-1.5X25x17WR 5
00571020 Hex Head Bolt M10-1.5X20 x17WR 5
00570835 Hex Head Bolt M8-1.25X35x13WR 5
00570830 Hex Head Bolt M8-1.25X30 x13WR 5
00570825 Hex Head Bolt M8-1.25X25 x13WR 10
00570820 Hex Head Bolt M8-1.25X20x13WR 10
00570816 Hex Head Bolt M8-1.25X16x13WR 10
00570640 Hex Head Bolt M6-1.0X40x10WR 5
00570630 Hex Head Bolt M6-1.0X30x10WR 5
00570625 Hex Head Bolt M6-1.0X25x10WR 10
00570620 Hex Head Bolt M6-1.0X20x10WR 10
00570616 Hex Head Bolt M6-1.0X16x10WR 10
00570612 Hex Head Bolt M6-1.0X12x10WR 10
00570610 Hex Head Bolt M6-1.0X10x10WR 10
0317010 Hex Nut M10X1.5 25
031708 Hex Nut M8X1.25 50
031706 Hex Nut M6X1.0 50
0407010 Flat Washer 10MM 25
040708 Flat Washer 8MM 50
040706 Flat Washer 6MM 50
0441010 Lock Washer St 10MM 25
044108 Lock Washer St 8MM 50
044106 Lock Washer St 6MM 50

19641060 - Total Pcs. 470
Art. # Description Size Qty.
10601240 Hex Bolt M12x1.25x40X17WR 5
10601230 Hex Bolt M12X1.25X30X17WR 5
10601040 Hex Bolt M10X1.25X40X14WR 5
10601030 Hex Bolt M10X1.25X30X14WR 5
1060840 Hex Bolt M8X1.25X40X12WR 5
1060830 Hex Bolt M8X1.25X30X12WR 5
1060820 Hex Bolt M8X1.25X20X12WR 10
1060816 Hex Bolt M8X1.25X16X12WR 10
0057640 Hex Bolt M6x1.0x40x10WR 10
0057630 Hex Bolt M6X1.0X30x10WR 10
0057620 Hex Bolt M6X1.0X20x10WR 10
0057612 Hex Bolt M6X1.0X12x10WR 10
031712171 Hex Nut 12x1.25x17 WR 10
031710141 Hex Nut 10x1.25x14 WR 10
0317812 Hex Nut 8x1.25x12 WR 25
03176 Hex Nut 6X1.0X10 WR 50
040712 Flat Washer 12MM 50
040710 Flat Washer 10MM 25
04078 Flat Washer 8MM 50
04076 Flat Washer 6MM 50
044112 Lock Washer 12MM 10
044110 Lock Washer 10MM 25
04418 Lock Washer 8MM 25
04416 Lock Washer 6MM 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

13

EURO/ISO METRIC HEX BOLT ASSORTMENT

196400005 - Total Pcs. 330 (A/B Hardware Assortment)
Art. # Description Size Qty.

10601250 Metric Hex Bolt M12x1.25x17WRx50 10

10601240 Metric Hex Bolt M12x1.25x17WRx40 10

10601230 Metric Hex Bolt M12x1.25x17WRx30 10

10601225 Metric Hex Bolt M12x1.25x17WRx25 10

00571250 Metric Hex Bolt M12x50x1.75x19WR 10

00571240 Metric Hex Bolt M12x40x1.75x19WR 10

00571230 Metric Hex Bolt M12x30x1.75x19WR 10

00571225 Metric Hex Bolt M12x25x1.75x19WR 10

10601050 Metric Hex Bolt M10x1.25x14WRx50 10

10601040 Metric Hex Bolt M10x1.25x14WRx40 10

10601030 Metric Hex Bolt M10x1.25x14WRx30 10

10601025 Metric Hex Bolt M10x1.25x14WRx25 10

10601020 Metric Hex Bolt M10x1.25x14WRx20 10

00571050 Metric Hex Bolt M10x50x1.5x17WR 10

00571040 Metric Hex Bolt M10x40x1.5x17WR 10

00571030 Metric Hex Bolt M10x30x1.5x17WR 10

00571025 Metric Hex Bolt M10x25x1.5x17WR 10

00571020 Metric Hex Bolt M10x20x1.5x17WR 10

1060840 Metric Hex Bolt M8x1.25x12WRx40 25

1060835 Metric Hex Bolt M8x1.25x12WRx35 25

1060830 Metric Hex Bolt M8x1.25x12WRx30 25

1060825 Metric Hex Bolt M8x1.25x12WRx25 25

1060820 Metric Hex Bolt M8x1.25x12WRx20 25

1060816 Metric Hex Bolt M8x1.25x12WRx16 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

14

METRIC LUG NUT ASSORTMENT

METRIC STUD ASSORTMENT

196413692 - Total Pcs. 127

Art. # Description Size
Wrench 
Size

Finish Qty.

13690115 Lug Nut M14X1.5 M22 Zinc 6

13690065 Lug Nut M12X1.25 M21 Zinc 10

13690064 Lug Nut M12X1.25 M19 Zinc 10

13690063 Lug Nut M12X1.5 M19 Zinc 10

13690109 Lug Nut M12X1.5 M19 Zinc 6

13690062 Lug Nut M12X1.5 M19 Zinc 25

13690509 Lug Nut M12X1.5 M21 Chrome 10

13690506 Lug Nut M12X1.5 M19 Chrome 10

13690066 Lug Nut M12X1.5 M12 Chrome 10

13690500 Lug Nut M12x1.25 3/4 Chrome 10

13690508 Lug Nut M12X1.25 13/16 Chrome 10

13690512 Lug Nut M14x1.5 M21 Chrome 10

19640250 - Total Pcs. 100

Art. # Description Size Qty.

02501050 Stud w/ Collar M10X50 10

02501030 Stud w/ Collar M10X30 10

02501025 Stud w/ Collar M10X25 10

0250840 Stud w/ Collar M8X40 10

0250830 Stud w/ Collar M8X30 10

0250630 Stud w/ Collar M6X30 10

0250625 Stud w/ Collar M6X25 10

0250620 Stud w/ Collar M6X20 10

02508381 Stud Full Thread M8X40 10

025046 VW Exhaust Stud M8x46 10



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

15

METRIC FLANGE BOLT ASSORTMENT

19641274 - Total Pcs. 490
Art. # Description Size Qty.

12741040 Flange Bolt M10X1.25x40x14WR 10

12741030 Flange Bolt M10X1.25X30x14WR 10

12741025 Flange Bolt M10X1.25X25x14WR 10

12741020 Flange Bolt M10x1.25X20x14WR 10

1274840 Flange Bolt M8X1.25X40X12WR 25

1274830 Flange Bolt M8X1.25x30x12WR 25

1274825 Flange Bolt M8X1.25X25X12WR 25

1274820 Flange Bolt M8X1.25X20X12WR 25

1274816 Flange Bolt M8X1.25X16X12WR 25

1274812 Flange Bolt M8X1.25X12X12WR 25

1274635 Flange Bolt M6X1.0X35X10WR 25

1274630 Flange Bolt M6X1.0X30X10WR 25

1274625 Flange Bolt M6X1.0X25X10WR 25

1274620 Flange Bolt M6X1.0X20X10WR 25

1274616 Flange Bolt M6X1.0X16X10WR 25

1274612 Flange Bolt M6X1.0X12X10WR 25

039410125 Flange Nut M10X1.25X14WR 50

03948125 Flange Nut M8X1.25X12 50

03946 Flange Nut M6X1.0X10 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

16

METRIC SOCKET HEAD SCREW ASSORTMENT (ZINC PLATED)

19640084 - Total Pcs. 400
Art. # Description Size Qty.

0084830 Socket Head Screw - 6 Key M8X1.25X30 25

0084825 Socket Head Screw - 6 Key M8x1.25X25 25

0084820 Socket Head Screw - 6 Key M8x1.25X20 25

0084816 Socket Head Screw - 6 Key M8x1.25X16 25

0084630 Socket Head Screw - 6 Key M6x1.0X30 25

0084625 Socket Head Screw - 6 Key M6x1.0X25 25

0084620 Socket Head Screw - 6 Key M6x1.0X20 25

0084616 Socket Head Screw - 6 Key M6x1.0X16 25

0084610 Socket Head Screw - 6 Key M6x1.0X10 25

0084525 Socket Head Screw - 6 Key M5x0.8X25 25

0084520 Socket Head Screw - 6 Key M5x0.8X20 25

0084516 Socket Head Screw - 6 Key M5x0.8X16 25

0084510 Socket Head Screw - 6 Key M5x0.8X10 25

0084420 Socket Head Screw - 6 Key M4x0.7X20 25

0084416 Socket Head Screw - 6 Key M4x0.7X16 25

0084410 Socket Head Screw - 6 Key M4x0.7X10 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

17

METRIC 8.8 HEX BOLT ASSORTMENT (ZINC PLATED)

196400004 - Total Pcs. 585 (A/B Hardware Assortment)

Art. # Description Size Qty.

0057860 Metric Hex Bolt Zinc M8X60X1.25X13WR 10

0057850 Metric Hex Bolt Zinc M8x50x1.25x13WR 25

0057845 Metric Hex Bolt Zinc M8x45x1.25x13WR 25

0057840 Metric Hex Bolt Zinc M8x40x1.25x13WR 25

0057835 Metric Hex Bolt Zinc M8x35x1.25x13WR 25

0057830 Metric Hex Bolt Zinc M8x30x1.25x13WR 25

0057825 Metric Hex Bolt Zinc M8X25X1.25X13WR 25

0057820 Metric Hex Bolt Zinc M8x20x1.25x13WR 25

0057816 Metric Hex Bolt Zinc M8x16x1.25x13WR 25

0057812 Metric Hex Bolt Zinc M8x12x1.25x13WR 25

0057650 Metric Hex Bolt Zinc M6x50x1.0x10WR 25

0057640 Metric Hex Bolt Zinc M6X40X1.0X10W 25

0057645 Metric Hex Bolt Zinc M6x45x1.0x10WR 25

0057635 Metric Hex Bolt Zinc M6x35x1.0x10WR 25

0057630 Metric Hex Bolt Zinc M6x30x1.0x10WR 25

0057625 Metric Hex Bolt Zinc M6x25x1.0x10WR 25

0057620 Metric Hex Bolt Zinc M6x20x1.0x10WR 25

0057616 Metric Hex Bolt Zinc M6x16x1.0x10WR 25

0057612 Metric Hex Bolt Zinc M6x12x1.0x10WR 25

0057610 Metric Hex Bolt Zinc M6x10x1.0x10WR 25

0057525 Metric Hex Bolt Zinc M5x25x0.8x8WR 25

0057520 Metric Hex Bolt Zinc M5x20x0.8xWR 25

0057516 Metric Hex Bolt Zinc M5x16x0.8x8WR 25

0057512 Metric Hex Bolt Zinc M5x12x0.8x8WR 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

18

METRIC FLAT WASHER ASSORTMENT

METRIC YELLOW FLAT/LOCK WASHER ASSORTMENT

19640407 - Total Pcs. 1,350

Art. # Description Size Qty.

040714 Flat Washer M14 50

040712 Flat Washer M12 100

040710 Flat Washer M10 100

04078 Flat Washer M8 200

04077 Flat Washer M7 100

04076 Flat Washer M6 200

04075 Flat Washer M5 200

04074 Flat Washer M4 200

04073 Flat Washer M3 200

1964040701 - Total Pcs. 700

Art. # Description Size Qty.

0407014 Flat Yellow Washer M14 25

0407012 Flat Yellow Washer M12 25

0407010 Flat Yellow Washer M10 50

040708 Flat Yellow Washer M8 50

040707 Flat Yellow Washer M7 50

040706 Flat Yellow Washer M6 50

040705 Flat Yellow Washer M5 50

040704 Flat Yellow Washer M4 50

0441014 Yellow Lock Washer M14 25

0441012 Yellow Lock Washer M12 25

0441010 Yellow Lock Washer M10 50

044108 Yellow Lock Washer M8 50

044107 Yellow Lock Washer M7 50

044106 Yellow Lock Washer M6 50

044105 Yellow Lock Washer M5 50

044104 Yellow Lock Washer M4 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

19

METRIC FENDER WASHER ASSORTMENT

METRIC NYLON LOCK NUT ASSORTMENT

19640411 - Total Pcs. 700

Art. # Description Size Qty.

04111230 Fender Washer M12x30 25

04111040 Fender Washer M10x40 25

04111030 Fender Washer M10x30 25

0411830 Fender Washer M8x30 25

0411825 Fender Washer M8x25 50

0411824 Fender Washer M8x24 50

0411820 Fender Washer M8x20 50

0411630 Fender Washer M6x30 50

0411625 Fender Washer M6x25 50

0411620 Fender Washer M6x20 50

0411618 Fender Washer M6x18 50

0411615 Fender Washer M6x15 50

0411520 Fender Washer M5x20 50

0411515 Fender Washer M5x15 50

0411420 Fender Washer M4x20 50

0411412 Fender Washer M4x12 50

19640368 - Total Pcs. 400

Art. # Description Size Qty.

03681415 Nylock M14X1.5X22WR 25

036812 Nylock M12X1.75X19WR 25

03681215 Nylock M12X1.5X19WR 25

036810125 Nylock M10X1.25X17WR 25

036810 Nylock M10X1.5X17WR 25

03681015 Nylock M10X1.5X15WR 25

0368101 Nylock M10X1.0X17WR 25

03688 Nylock M8X1.25X13WR 50

03687 Nylock M7X1.0X11WR 25

03686 Nylock M6X1.0x10WR 50

03685 Nylock M5X.08X8WR 50

03684 Nylock M4X0.7X7WR 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

20

METRIC HEX NUT ASSORTMENT

METRIC YELLOW HEX NUT ASSORTMENT

19640317 - Total Pcs. 825

Art. # Description Size Qty.

031714 Hex Nut - 8.8 Zinc M14x2.0x22WR 25

031712 Hex Nut - 8.8 Zinc M12x1.75x19WR 25

031712171 Hex Nut - 8.8 Zinc M12x1.25x17WR 25

031710141 Hex Nut - 8.8 Zinc M10x1.25x14WR 50

031710 Hex Nut - 8.8 Zinc M10x1.5x17 WR 50

03178 Hex Nut - 8.8 Zinc M8x1.25x13WR 100

0317812 Hex Nut - 8.8 Zinc M8x1.25x12WR 50

03177 Hex Nut - 8.8 Zinc M7x1.0x11WR 100

03176 Hex Nut - 8.8 Zinc M6x1.0x10WR 100

03175 Hex Nut - 8.8 Zinc M5x0.8x8WR 100

03174 Hex Nut - 8.8 Zinc M4x0.7x7WR 100

03173 Hex Nut - 8.8 Zinc M3x0.5x5.5WR 100

196403170 - Total Pcs. 950

Art. # Description Size WR. Qty.

0317016 Hex Nut 8.8 Yellow 16x2.0 M24 50

0317014 Hex Nut 8.8 Yellow 14x2.0 M22 50

0317012 Hex Nut 8.8 Yellow 12x1.75 M19 50

0307010 Hex Nut 8.8 Yellow 10x1.5 M17 100

031701015 Hex Nut 8.8 Yellow 10x1.5 M15 50

0317010141 Hex Nut 8.8 Yellow 10x1.25 M14 50

031708 Hex Nut 8.8 Yellow 8x1.25 M13 100

03170812 Hex Nut 8.8 Yellow 8x1.25 M12 100

031707 Hex Nut 8.8 Yellow 7x1.0 M11 100

031706 Hex Nut 8.8 Yellow 6x1.0 M10 100

031705 Hex Nut 8.8 Yellow 5x0.8 M8 100

031704 Hex Nut 8.8 Yellow 4x0.7 M7 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

21

METRIC PAN HEAD MACHINE SCREW ASSORTMENT

METRIC HEX NUT/FLANGE NUT/FENDER WASHER ASSORTMENT

19640047 - Total Pcs. 1,225

Art. # Description Size Qty.

1047650 Pan Head Machine Screw M6X50 25
1047635 Pan Head Machine Screw M6X35 50
1047630 Pan Head Machine Screw M6X30 50
1047620 Pan Head Machine Screw M6X20 50
1047616 Pan Head Machine Screw M6X16 50
1047612 Pan Head Machine Screw M6X12 100
1047530 Pan Head Machine Screw M5X30 50
1047525 Pan Head Machine Screw M5x25 50
1047520 Pan Head Machine Screw M5x20 100
1047516 Pan Head Machine Screw M5x16 100
1047425 Pan Head Machine Screw M4x25 100
1047420 Pan Head Machine Screw M4x20 100
1047416 Pan Head Machine Screw M4x16 100
1047412 Pan Head Machine Screw M4X12 100
1047320 Pan Head Machine Screw M3x20 100
1047316 Pan Head Machine Screw M3x16 100

196400002 - Total Pcs. 1,735 (A/B Hardware Assortment)

Art. # Description Size Qty.

04111030 Flange Washer GLV Fender 10x30 50
0411830 Flange Washer GLV Fender 8x30 100
0411820 Flange Washer GLV Fender 8x20 100
0411825 Flange Washer GLV Fender 8x1.5x25 10
0411630 Flange Washer GLV Fender 6x30 100
0411625 Flange Washer GLV Fender 6x25 100
0411620 Flange Washer GLV Fender 6x20 100
0411618 Flange Washer GLV Fender 6x18 100
0411615 Flange Washer GLV Fender 6x15 100
0411520 Flange Washer GLV Fender 5x20 100
039410125 Flange Nut G8 Yellow Zinc 10x1.25x14 50
0394010 Flange Nut G8 Yellow Zinc 10x1.5x15 25
039408 Flange Nut G8 Yellow Zinc 8x1.25x13 50
03948125 Flange Nut G8 Yellow Zinc 8x1.25x12 50
03946 Flange Nut G8 Yellow Zinc 6x1.0x10 50
039406 Flange Nut G8 Yellow Zinc 6x1.0x10 50
039405 Flange Nut G8 Yellow Zinc 5x0.8x8 50
031710141 Hex Nut 8.8 Zinc 10x1.25x14 50
03178 Hex Nut 8.8 Zinc 8x1.25x13 100
0317812 Hex Nut 8.8 Zinc 8x1.25x12 50
03176 Hex Nut 8.8 Zinc 6x1.0x10 100
03175 Hex Nut 8.8 Zinc 5x0.8x8 100
03174 Hex Nut 8.8 Zinc 4x0.7x7 100
031710 Hex Nut 8.8 Zinc 10x1.5x17 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

22

METRIC COTTER PIN ASSORTMENT

METRIC E-CLIP ASSORTMENT

19640470 - Total Pcs. 625

Art. # Description Hole
Cotter Pin. 
Dia.

Length Qty.

0470550 Cotter Pin 5 4.5 50 25

0470540 Cotter Pin 5 4.5 40 25

04704550 Cotter Pin 4.5 4.0 50 25

0470440 Cotter Pin 4 3.5 40 25

04703560 Cotter Pin 3.5 3.0 60 25

04703540 Cotter Pin 3.5 3.0 40 25

04703240 Cotter Pin 3.2 2.7 40 50

04703530 Cotter Pin 3.5 2.7 30 25

04703232 Cotter Pin 3.2 2.7 32 50

04702540 Cotter Pin 2.5 2.0 40 50

0470240 Cotter Pin 2 1.5 40 50

04702525 Cotter Pin 2.5 2.0 25 50

0470225 Cotter Pin 2 1.5 25 50

04701625 Cotter Pin 1.6 1.0 25 50

04701620 Cotter Pin 1.6 1.0 20 50

0470125 Cotter Pin 1.2 .75 25 50

19640490 - Total Pcs. 800

Art. # Description Size Qty.

049015 E-Clip M1.5 100

049023 E-Clip M2.3 100

049032 E-Clip M3.2 100

049040 E-Clip M4.0 100

049050 E-Clip M5.0 100

049060 E-Clip M6.0 100

049070 E-Clip M7.0 100

049080 E-Clip M8.0 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

23

METRIC O-RING ASSORTMENT (M3-M24)(NOT FOR AC APPLICATION)

FLAT SAE/USS/METRIC WASHER ASSORTMENT

196404681 - Total Pcs. 775

Art. # Description Size Qty.

046802430 O-Ring Rubber M24X3.0 25
046802230 O-Ring Rubber M22X3.0 25
046802030 O-Ring Rubber M20X3.0 25
046801925 O-Ring Rubber M19X2.5 25
046801830 O-Ring Rubber M18X3.0 25
046801725 O-Ring Rubber M17X2.5 50
046801525 O-Ring Rubber M15X2.5 50
046801425 O-Ring Rubber M14X2.5 50
046801225 O-Ring Rubber M12X2.5 50
046801220 O-Ring Rubber M12X2.0 50
046801025 O-Ring Rubber M10X2.5 50
046801020 O-Ring Rubber M10X2.0 50
046800820 O-Ring Rubber M8X2.0 50
046800720 O-Ring Rubber M7X2.0 50
046800620 O-Ring Rubber M6X2.0 50
046800520 O-Ring Rubber M5X2.0 50
046800420 O-Ring Rubber M4X2.0 50
046800320 O-Ring Rubber M3X2.0 50

196400003 - Total Pcs. 2,250 (A/B Hardware Assortment)

Art. # Description Size Qty.

040712 Flat Washer Zinc 12MM 50
040710 Flat Washer Zinc 10MM 100
04078 Flat Washer Zinc 8MM 100
04076 Flat Washer Zinc 6MM 100
04075 Flat Washer Zinc 5MM 100
04074 Flat Washer Zinc 4MM 100
04073 Flat Washer Zinc 3MM 100
14072107 Flat Washer SAE Zinc 10 100
1407212 Flat Washer SAE Zinc 1/2 50
14072716 Flat Washer SAE Zinc 7/16 100
1407238 Flat Washer SAE Zinc 3/8 100
1407138 Flat Washer SAE Zinc 3/8 100
14072516 Flat Washer SAE Zinc 5/16 100
1407214 Flat Washer SAE Zinc 1/4 100
1407114 Flat Washer SAE Zinc 1/4 100
14071516 Flat Washer SAE Zinc 5/16 100
0442516 Lock Washer SAE G5 5/16 100
044110 Lock Washer ST GLV 10MM 50
04415 Lock Washer ST GLV 5MM 100
04416 Lock Washer ST GLV 6MM 100
04418 Lock Washer ST GLV 8MM 100
0442716 Lock Washer SAE 7/16 100
044238 Lock Washer SAE 3/8 100
044214 Lock Washer SAE 1/4 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

24

COPPER SEALING RING ASSORTMENT

ALUMINUM SEALING RING ASSORTMENT

19640460 - Total Pcs. 625

Art. # Description Size Qty.

04602834 Sealing Ring Copper M28x34 25

04602632 Sealing Ring Copper M26x32 25

04602430 Sealing Ring Copper M24x30 25

04602227 Sealing Ring Copper M22x27 25

04602026 Sealing Ring Copper M20x26 25

04601925 Sealing Ring Copper M19x25 25

04601824 Sealing Ring Copper M18x24 25

04601622 Sealing Ring Copper M16x22 25

04601420 Sealing Ring Copper M14x20 25

04601418 Sealing Ring Copper M14x18 50

04601218 Sealing Ring Copper M12x18 50

04601216 Sealing Ring Copper M12x16 50

04601016 Sealing Ring Copper M10x16 50

04601014 Sealing Ring Copper M10x14 50

0460814 Sealing Ring Copper M8x14 50

0460812 Sealing Ring Copper M8x12 50

0460610 Sealing Ring Copper M6x10 50

19640463 - Total Pcs. 400

Art. # Description Size Qty.

04632632 Sealing Ring Aluminum M26x32 25

04632430 Sealing Ring Aluminum M24x30 25

04632227 Sealing Ring Aluminum M22x27 25

04632026 Sealing Ring Aluminum M20x26 25

04631824 Sealing Ring Aluminum M18x24 25

04631822 Sealing Ring Aluminum M18x22 25

04631622 Sealing Ring Aluminum M16x22 25

04631620 Sealing Ring Aluminum M16x20 25

04631420 Sealing Ring Aluminum M14x20 25

04631418 Sealing Ring Aluminum M14x18 25

04631218 Sealing Ring Aluminum M12x18 25

04631216 Sealing Ring Aluminum M12x16 25

04631014 Sealing Ring Aluminum M10x14 25

0463814 Sealing Ring Aluminum M8x14 25

0463812 Sealing Ring Aluminum M8x12 25

0463610 Sealing Ring Aluminum M6x10 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

25

SELF TAPPING PAN HEAD SCREW ASSORTMENT

SELF TAPPING PHILLIPS PAN HEAD REGULAR & COUNTERSUNK ASSORTMENT

19640115 - Total Pcs. 1,600

Art. # Description Size Qty.

01154825 Self-Tapping Phillips Pan Head #10X1 100

01154822 Self-Tapping Phillips Pan Head #10X7/8 100

01154819 Self-Tapping Phillips Pan Head #10X3/4 100

01154816 Self-Tapping Phillips Pan Head #10X5/8 100

01154813 Self-Tapping Phillips Pan Head #10X1/2 100

01154225 Self-Tapping Phillips Pan Head #8X1 100

01154222 Self-Tapping Phillips Pan Head #8X7/8 100

01154219 Self-Tapping Phillips Pan Head #8X3/4 100

01154216 Self-Tapping Phillips Pan Head #8x5/8 100

01154213 Self-Tapping Phillips Pan Head #8X1/2 100

01154295 Self-Tapping Phillips Pan Head #8X3/8 100

01153525 Self-Tapping Phillips Pan Head #6X1 100

01153519 Self-Tapping Phillips Pan Head #6X3/4 100

01153516 Self-Tapping Phillips Pan Head #6X5/8 100

01153513 Self-Tapping Phillips Pan Head #6X1/2 100

01153595 Self-Tapping Phillips Pan Head #6X3/8 100

1964011517 - Total Pcs. 1,500

Art. # Description Size Qty.

01174825 Phillips Countersunk Screw #10x1 50
01174822 Phillips Countersunk Screw #10X7/8 50
01174819 Phillips Countersunk Screw #10x3/4 50
01174222 Phillips Countersunk Screw #8x7/8 100
01174219 Phillips Countersunk Screw #8x3/4 100
01174216 Phillips Countersunk Screw #8x5/8 100
01173519 Phillips Countersunk Screw #6x3/4 100
01173516 Phillips Countersunk Screw #6x5/8 100
01173513 Phillips Countersunk Screw #6x1/2 100
01154822 Phillips Pan Head Screw #10x7/8 50
01154819 Phillips Pan Head Screw #10x3/4 50
01154816 Phillips Pan Head Screw #10x5/8 50
01154219 Phillips Pan Head Screw #8x3/4 100
01154216 Phillips Pan Head Screw #8x5/8 100
01154213 Phillips Pan Head Screw #8x1/2 100
01153516 Phillips Pan Head Screw #6x5/8 100
01153513 Phillips Pan Head Screw #6x1/2 100
01153595 Phillips Pan Head Screw #6x3/8 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

26

BLACK SELF TAPPING WASHER HEAD  ASSORTMENT W/ CUP WASHERS

BLACK SELF TAPPING SCREW  ASSORTMENT

196401340 - Total Pcs. 750

Art. # Description Size Qty.

013404825 Black Self Tapping Phillips Washer #10x1 25
013404822 Black Self Tapping Phillips Washer #10x7/8 25
013404819 Black Self Tapping Phillips Washer #10x3/4 50
013404816 Black Self Tapping Phillips Washer #10x5/8 50
013404813 Black Self Tapping Phillips Washer #10x1/2 50
013404895 Black Self Tapping Phillips Washer #10x3/8 50
013404232 Black Self Tapping Phillips Washer #8x1-1/4 25
013404225 Black Self Tapping Phillips Washer #8x1 25
013404219 Black Self Tapping Phillips Washer #8x3/4 50
013404216 Black Self Tapping Phillips Washer #8x5/8 50
013404213 Black Self Tapping Phillips Washer #8x1/2 50
013404295 Black Self Tapping Phillips Washer #8x3/8 50
013403925 Black Self Tapping Phillips Washer #7X1 25
013403922 Black Self Tapping Phillips Washer #7x7/8 25
013403919 Black Self Tapping Phillips Washer #7X3/4 50
013403916 Black Self Tapping Phillips Washer #7X5/8 50
013403913 Black Self Tapping Phillips Washer #7X1/2 50
013403995 Black Self Tapping Phillips Washer #7x3/8 50

1964000012 - Total Pcs. 1,200

Art. # Description Size Qty.

01342913 Black Self Tapping Phillips Screw #4x1/2 50
01342995 Black Self Tapping Phillips Screw #4x3/8 50
01344213 Black Self Tapping Phillips Screw #8x1/2 50
01344216 Black Self Tapping Phillips Screw #8x5/8 50
01344219 Black Self Tapping Phillips Screw #8x3/4 50
01344225 Black Self Tapping Phillips Screw #8x1 50
01344295 Black Self Tapping Phillips Screw #8x3/8 50
01344816 Black Self Tapping Phillips Screw #10x5/8 50
01344819 Black Self Tapping Phillips Screw #10x3/4 50
01344825 Black Self Tapping Phillips Screw #10x1 50
01345516 Black Self Tapping Phillips Screw #12x5/8 50
01345525 Black Self Tapping Phillips Screw #12x1 50
01373513 Black Zinc OVL RSD CTSK Screw #6x1/2 50
01373516 Black Zinc OVL RSD CTSK Screw #6x5/8 50
01373519 Black Zinc OVL RSD CTSK Screw #6x3/4 50
01373916 Black Zinc OVL RSD CTSK Screw #7x5/8 50
01373922 Black Zinc OVL RSD CTSK Screw #7x7/8 50
01373925 Black Zinc OVL RSD CTSK Screw #7x1 50
01374216 Black Zinc OVL RSD CTSK Screw #8x5/8 50
01374219 Black Zinc OVL RSD CTSK Screw #8x3/4 50
01374225 Black Zinc OVL RSD CTSK Screw #8x1 50
01374232 Black Zinc OVL RSD CTSK Screw #8x1-1/4 50
01374816 Black Zinc OVL RSD CTSK Screw #10x5/8 50
01374819 Black Zinc OVL RSD CTSK Screw #10x3/4 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

27

BLACK SELF TAPPING PHILLIPS HEAD OVAL COUNTERSUNK ASSORTMENT W/CUP WASHERS

BLACK SELF TAPPING PHILLIPS PAN HEAD SCREW ASSORTMENT

19640137 - Total Pcs. 1,000

Art. # Description Size Qty.

01374825 Phillips Oval Countersunk Screw #10X1 50
01374816 Phillips Oval Countersunk Screw #10X5/8 50
01374232 Phillips Oval Countersunk Screw #8X1-1/4 50
01374225 Phillips Oval Countersunk Screw #8X1 50
01374222 Phillips Oval Countersunk Screw #8X7/8 50
01374219 Phillips Oval Countersunk Screw #8X3/4 50
01374216 Phillips Oval Countersunk Screw #8X5/8 50
01373932 Phillips Oval Countersunk Screw #7X1-1/4 50
01373925 Phillips Oval Countersunk Screw #7X1 50
01373922 Phillips Oval Countersunk Screw #7X7/8 50
01373919 Phillips Oval Countersunk Screw #7X3/4 50
01373916 Phillips Oval Countersunk Screw #7X5/8 50
01373525 Phillips Oval Countersunk Screw #6X1 50
01373519 Phillips Oval Countersunk Screw #6X3/4 50
01373513 Phillips Oval Countersunk Screw #6X1/2 50
01372916 Phillips Oval Countersunk Screw #4X5/8 50
01372995 Phillips Oval Countersunk Screw #4X3/8 50
04584136 Escutcheon Black 6.0MM 50
04584125 Escutcheon Black 4.8MM 50
04580124 Washer Black Plastic 4.3MM 50

19640134 - Total Pcs. 950

Art. # Description Size Qty.

01345525 Self Tapping Phillips Pan Head Screw #12X1 25
01345519 Self Tapping Phillips Pan Head Screw #12X3/4 25
01344838 Self Tapping Phillips Pan Head Screw #10X1-1/2 50
01344825 Self Tapping Phillips Pan Head Screw #10x1 50
01344819 Self Tapping Phillips Pan Head Screw #10x3/4 50
01344816 Self Tapping Phillips Pan Head Screw #10X5/8 50
01344225 Self Tapping Phillips Pan Head Screw #8x1 50
01344219 Self Tapping Phillips Pan Head Screw #8x3/4 50
01344216 Self Tapping Phillips Pan Head Screw #8x5/8 50
01344213 Self Tapping Phillips Pan Head Screw #8x1/2 50
01344295 Self Tapping Phillips Pan Head Screw #8x3/8 50
01343919 Self Tapping Phillips Pan Head Screw #7x3/4 50
01343916 Self Tapping Phillips Pan Head Screw #7X5/8 50
01343913 Self Tapping Phillips Pan Head Screw #7x1/2 50
01343519 Self Tapping Phillips Pan Head Screw #6x3/4 50
01343516 Self Tapping Phillips Pan Head Screw #6x5/8 50
01343513 Self Tapping Phillips Pan Head Screw #6x1/2 50
01343595 Self Tapping Phillips Pan Head Screw #6x3/8 50
01342913 Self Tapping Phillips Pan Head Screw #4x1/2 50
01342995 Self Tapping Phillips Pan Head Screw #4x3/8 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

28

SELF TAPPING SCREW ASSORTMENT

1964000010 - Total Pcs. 1,200 (A/B Hardware Assortment)
Art. # Description Size Qty.

01174825 Oval RSd CTSK Pan Head Screw 10x1 50

01174819 Oval RSd CTSK Pan Head Screw 10x3/4 50

01174225 Oval RSd CTSK Pan Head Screw 8x1 50

01174219 Oval RSd CTSK Pan Head Screw 8x3/4 50

01174216 Oval RSd CTSK Pan Head Screw 8x5/8 50

01173519 Oval RSd CTSK Pan Head Screw 6x3/4 50

01173513 Oval RSd CTSK Pan Head Screw 6x1/2 50

01296520 Self Tap w/ Fix Washer #14x3/4 50

01296316 Self Tap w/ Fix Washer #14x5/8 50

01296516 Self Tap w/ Fix Washer #14x5/8 50

01295516 Self Tap w/ Fix Washer #12x5/8 50

01295613 Self Tap w/ Fix Washer #12x1/2 50

01294819 Self Tap w/ Fix Washer #10x3/4 50

01294816 Self Tap w/ Fix Washer #10x5/8 50

01294813 Self Tap w/ Fix Washer #10x1/2 50

0129819 Self Tap w/ Fix Washer #8x3/4 50

02146325 US Indent Hex-Tek 14x1 50

02145519 US Indent Hex-Tek 12x3/4 50

02144825 US Indent Hex-Tek 10x1 50

02144819 US Indent Hex-Tek 10x3/4 50

02144813 US Indent Hex-Tek 10x1/2 50

02144225 US Indent Hex-Tek 8x1 50

02144213 US Indent Hex-Tek 8x1/2 50

02144219 US Indent Hex-Tek 8x3/4 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

29

SEMS/S-T/BLACK WASHER HEAD SCREW ASSORTMENT

1964000011 - Total Pcs. 1,200 (A/B Hardware Assortment)
Art. # Description Size Qty.

013154820 Sems Screw Black 10x3/4 50

013154220 Sems Screw Black 8x3/4 50

0132674216 Tek Sems Chrome Flsh 8x5/8 50

013254216 Tek Sems Flsh Black 8x5/8 50

013254225 Self Drill Oval Head 8x1 50

013254219 Self Drill Oval Head 8x3/4 50

013404819 Black Self Tapping Phillips Washer 10x4 50

013404825 Black Self Tapping Phillips Washer 10x1 50

013404822 Black Self Tapping Phillips Washer 10x7/8 50

013404816 Black Self Tapping Phillips Washer 10x5/8 50

013404813 Black Self Tapping Phillips Washer 10x1/2 50

013404895 Black Self Tapping Phillips Washer 10x3/8 50

013404232 Black Self Tapping Phillips Washer 8x1-1/4 50

013404225 Black Self Tapping Phillips Washer 8x1 50

013404219 Black Self Tapping Phillips Washer 8x3/4 50

013404216 Black Self Tapping Phillips Washer 8x5/8 50

013404213 Black Self Tapping Phillips Washer 8x1/2 50

013404295 Black Self Tapping Phillips Washer 8x3/8 50

013403925 Black Self Tapping Phillips Washer 7x1 50

013403922 Black Self Tapping Phillips Washer 7x7/8 50

013403919 Black Self Tapping Phillips Washer 7x3/4 50

013403916 Black Self Tapping Phillips Washer 7x5/8 50

013403913 Black Self Tapping Phillips Washer 7x1/2 50

013403995 Black Self Tapping Phillips Washer 7x3/8 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

30

ZINC PAN HEAD SHEET METAL SCREW ASSORTMENT

PHILLIPS CONTERSUNK SELF TAPPING SCEW ASSORTMENT

19640115  - Total Pcs. 1,200 (A/B Hardware Assortment)
Art. # Description Size Qty.

01156325 Pan Head Phillips Screw Zinc 14x1 50
01156319 Pan Head Phillips Screw Zinc 14x3/4 50
01156316 Pan Head Phillips Screw Zinc 14x5/8 50
01155525 Pan Head Phillips Screw Zinc 12x1 50
01155519 Pan Head Phillips Screw Zinc 12x3/4 50
01155516 Pan Head Phillips Screw Zinc 12x5/8 50
01155513 Pan Head Phillips Screw Zinc 12x1/2 50
01154832 Pan Head Phillips Screw Zinc 10x1-1/4 50
01154825 Pan Head Phillips Screw Zinc 10x1 50
01154822 Pan Head Phillips Screw Zinc 10x7/8 50
01154819 Pan Head Phillips Screw Zinc 10x3/4 50
01154816 Pan Head Phillips Screw Zinc 10x5/8 50
01154813 Pan Head Phillips Screw Zinc 10x1/2 50
01154232 Pan Head Phillips Screw Zinc 8x1-1/4 50
01154225 Pan Head Phillips Screw Zinc 8x1 50
01154219 Pan Head Phillips Screw Zinc 8x3/4 50
01154216 Pan Head Phillips Screw Zinc 8x5/8 50
01154213 Pan Head Phillips Screw Zinc 8x1/2 50
01154295 Pan Head Phillips Screw Zinc 8x3/8 50
01153525 Pan Head Phillips Screw Zinc 6x1 50
01153519 Pan Head Phillips Screw Zinc 6x3/4 50
01153516 Pan Head Phillips Screw Zinc 6x5/8 50
01153513 Pan Head Phillips Screw Zinc 6x1/2 50
01153595 Pan Head Phillips Screw Zinc 6x3/8 50

19640117 - Total Pcs. 1,550
Art. # Description Size Qty.

01175538 Phillips Oval Countersunk Screw #12x1-1/2 50
01175525 Phillips Oval Countersunk Screw #12x1 50
01175519 Phillips Oval Countersunk Screw #12x3/4 50
01174838 Phillips Oval Countersunk Screw #10x1-1/2 50
01174825 Phillips Oval Countersunk Screw #10x1 50
01174822 Phillips Oval Countersunk Screw #10x7/8 100
01174819 Phillips Oval Countersunk Screw #10x3/4 100
01174816 Phillips Oval Countersunk Screw #10x5/8 100
01174813 Phillips Oval Countersunk Screw #10x1/2 100
01174225 Phillips Oval Countersunk Screw #8x1 100
01174222 Phillips Oval Countersunk Screw #8x7/8 100
01174219 Phillips Oval Countersunk Screw #8x3/4 100
01174216 Phillips Oval Countersunk Screw #8x5/8 100
01174213 Phillips Oval Countersunk Screw #8x1/2 100
01173525 Phillips Oval Countersunk Screw #6x1 100
01173519 Phillips Oval Countersunk Screw #6x3/4 100
01173516 Phillips Oval Countersunk Screw #6x5/8 100
01173513 Phillips Oval Countersunk Screw #6x1/2 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

31

LICENSE PLATE SCREW ASSORTMENT

SELF TAPPING HEX HEAD W/WASHER (CLEAR ZINC FINISH) ASSORTMENT

19641210 - Total Pcs. 600

Art. # Description Size Qty.

0046616 Machine Screw Phillips Pan Head M6X16 50

021009 License Plate Hex Head Screw Pan Head Yel M6X20 50

021013 License Plate Set 1/4X5/8 50

021022 Machine Screw Nylon Pan Head  Black M6x16 50

021038 License Plate Hex/Slot Ford 1/4X3/4 50

121042 Truss Head Screw 1/4X3/4 50

0046610 Machine Screw Pan Head M6X10 50

021019 License Plate Screw 1/4-20X1/2 50

021032 License Plate Anchor Screw #10X5/8 50

021037 Hex Slot 4.38 Black 1/4X3/4 50

121036 License Plate Screw OEM Ford 1/4X3/4 50

021020 Nylon Pan Head Slot M6X20BK 50

19640129 - Total Pcs. 425

Art. # Description Size Qty.

01296520 Self Tapping w/ Fix Washer #14X3/4 50

01296316 Self Tapping w/ Fix Washer #14X5/8 50

01296516 Self Tapping w/ Fix Washer #14X5/8 50

01295613 Self Tapping w/ Fix Washer #12X1/2 50

01295516 Self Tapping w/ Fix Washer #12X5/8 50

01294819 Self Tapping w/ Fix Washer #10X3/4 50

01294813 Self Tapping w/ Fix Washer #10x1/2 50

01294816 Self Tapping w/ Fix Washer #10X5/8 50

0129819 Self Tapping w/ Fix Washer #8X3/4 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

32

HEX TEK ASSORTMENT

SQUARE DRIVE SCREW ASSORTMENT

19640214 - Total Pcs. 600

Art. # Description Size Qty.

02146332 US Indent Hex Tek #14x1-1/4 25
02146325 US Indent Hex Tek #14x1 25
02146319 US Indent Hex Tek #14x3/4 25
02145538 US Indent Hex Tek #12x1-1/2 25
02145525 US Indent Hex Tek #12x1 25
02145519 US Indent Hex Tek #12x3/4 25
02144832 US Indent Hex Tek #10x1-1/4 25
02144825 US Indent Hex Tek #10x1 25
02144819 US Indent Hex Tek #10x3/4 25
02144813 US Indent Hex Tek #10x1/2 25
02144225 US Indent Hex Tek #8x1 50
02144219 US Indent Hex Tek #8x3/4 50
02144216 US Indent Hex Tek #8x5/8 50
02144213 US Indent Hex Tek #8x1/2 50
02143525 US Indent Hex Tek #6x1 50
02143519 US Indent Hex Tek #6x3/4 50
02143513 US Indent Hex Tek #6x1/2 50

19641212 - Total Pcs. 1,200

Art. # Description Size Qty.

12124832 Sq. Pan Self Drill Screw Zinc #10x1-1/4 60
12124819 Sq. Pan Self Drill Screw Zinc #10x3/4 60
12124813 Sq. Pan Self Drill Screw Zinc #10x1/2 60
12124250 Sq. Pan Self Drill Screw Zinc #8x2 60
12124238 Sq. Pan Self Drill Screw Zinc #8x1-1/2 60
12124232 Sq. Pan Self Drill Screw Zinc #8x1-1/4 60
12124225 Sq. Pan Self Drill Screw Zinc #8x1 60
12124219 Sq. Pan Self Drill Screw Zinc #8x3/4 60
12124213 Sq. Pan Self Drill Screw Zinc #8x1/2 60
12124295 Sq. Pan Self Drill Screw Zinc #8x3/8 60
12134819 Sq. Drive Pan Head S/M/S Zinc #10x3/4 60
12134813 Sq. Drive Pan Head S/M/S Zinc #10x1/2 60
12134232 Sq. Drive Pan Head S/M/S Zinc #8x1-1/4 60
12134225 Sq. Drive Pan Head S/M/S Zinc #8x1 60
12134219 Sq. Drive Pan Head S/M/S Zinc #8x3/4 60
12134213 Sq. Drive Pan Head S/M/S Zinc #8x1/2 60
12133532 Sq. Drive Pan Head S/M/S Zinc #6x1-1/4 60
12133525 Sq. Drive Pan Head S/M/S Zinc #6x1 60
12133519 Sq. Drive Pan Head S/M/S Zinc #6x3/4 60
12133513 Sq. Drive Pan Head S/M/S Zinc #6x1/2 60



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

33

SELF TAPPING PAN HEAD STAINLESS STEEL SCREW ASSORTMENT

SELF TAPPING OVAL COUNTERSUNK STAINLESS STEEL SCEW ASSORTMENT

19640119 - Total Pcs. 1,350

Art. # Description Size Qty.

01196338 Self Tapping Phillips Pan Head #14x1-1/2 50
01196325 Self Tapping Phillips Pan Head #14x1 50
01196319 Self Tapping Phillips Pan Head #14x3/4 50
01195538 Self Tapping Phillips Pan Head #12x1-1/2 50
01195525 Self Tapping Phillips Pan Head #12x1 50
01195519 Self Tapping Phillips Pan Head #12x3/4 100
01194832 Self Tapping Phillips Pan Head #10x1-1/4 100
01194825 Self Tapping Phillips Pan Head #10X1 100
01194819 Self Tapping Phillips Pan Head #10x3/4 100
01194813 Self Tapping Phillips Pan Head #10X1/2 100
01194225 Self Tapping Phillips Pan Head #8x1 100
01194219 Self Tapping Phillips Pan Head #8x3/4 100
01194213 Self Tapping Phillips Pan Head #8x1/2 100
01193525 Self Tapping Phillips Pan Head #6x1 100
01193519 Self Tapping Phillips Pan Head #6x3/4 100
01193513 Self Tapping Phillips Pan Head #6x1/2 100

19640124 - Total Pcs. 950

Art. # Description Size Qty.

01245538 Self Tapping Phillips Oval Countersunk #12x1-1/2 25
01245525 Self Tapping Phillips Oval Countersunk #12x1 50
01245519 Self Tapping Phillips Oval Countersunk #12x3/4 50
01244850 Self Tapping Phillips Oval Countersunk #10x2 25
01244838 Self Tapping Phillips Oval Countersunk #10X1-1/2 50
01244832 Self Tapping Phillips Oval Countersunk #10x1-1/4 50
01244825 Self Tapping Phillips Oval Countersunk #10X1 50
01244819 Self Tapping Phillips Oval Countersunk #10x3/4 50
01244813 Self Tapping Phillips Oval Countersunk #10x1/2 50
01244238 Self Tapping Phillips Oval Countersunk #8x1-1/2 50
01244225 Self Tapping Phillips Oval Countersunk #8x1 50
01244234 Self Tapping Phillips Oval Countersunk #8x3/4 50
01244213 Self Tapping Phillips Oval Countersunk #8x1/2 50
01243525 Self Tapping Phillips Oval Countersunk #6x1 50
01243519 Self Tapping Phillips Oval Countersunk #6x3/4 50
01243513 Self Tapping Phillips Oval Countersunk #6x1/2 50
14575127 Cup Washer Stainless Steel #12 50
14575107 Cup Washer Stainless Steel #10 50
1457587 Cup Washer Stainless Steel #8 50
1457567 Cup Washer Stainless Steel #6 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

34

SELF TAPPING PHILLIPS PAN HEAD REGULAR & FLAT COUNTERSUNK STAINLESS STEEL ASSORTMENT

SELF TAPPING PHILLIPS PAN HEAD COUNTERSUNK STAINLESS STEEL ASSORTMENT W/CUP WASHER

1964011923 - Total Pcs. 2,150

Art. # Description Size Qty.

01235538 Self Tapping Phillips Countersunk #12x1-1/2 50
01235525 Self Tapping Phillips Countersunk #12x1 50
01234838 Self Tapping Phillips Countersunk #10x1-1/2 100
01235550 Self Tapping Phillips Countersunk #10x1-1/4 50
01234825 Self Tapping Phillips Countersunk #10x1 100
01234819 Self Tapping Phillips Countersunk #10x3/4 100
01234225 Self Tapping Phillips Countersunk #8x1 100
01234219 Self Tapping Phillips Countersunk #8x3/4 100
01234213 Self Tapping Phillips Countersunk #8x1/2 100
01233525 Self Tapping Phillips Countersunk #6x1 100
01233519 Self Tapping Phillips Countersunk #6x3/4 100
01233513 Self Tapping Phillips Countersunk #6x1/2 100
01195538 Self Tapping Phillips Pan Head #12x1-1/2 50
01195525 Self Tapping Phillips Pan Head #12x1 50
01195519 Self Tapping Phillips Pan Head #12x3/4 100
01194832 Self Tapping Phillips Pan Head #10x1-1/4 100
01194825 Self Tapping Phillips Pan Head #10x1 100
01194819 Self Tapping Phillips Pan Head #10x3/4 100
01194232 Self Tapping Phillips Pan Head #8x1-1/4 100
01194225 Self Tapping Phillips Pan Head #8x1 100
01194219 Self Tapping Phillips Pan Head #8x3/4 100
01193525 Self Tapping Phillips Pan Head #6x1 100
01193519 Self Tapping Phillips Pan Head #6x3/4 100
01193513 Self Tapping Phillips Pan Head #6x1/2 100

19640123 - Total Pcs. 1,500

Art. # Description Size Qty.

01235538 Self Tapping Phillips Countersunk #12X1-1/2 50
01235525 Self Tapping Phillips Countersunk #12X1 100
01235519 Self Tapping Phillips Countersunk #12X3/4 100
01234838 Self Tapping Phillips Countersunk #10X1-1/2 50
01234825 Self Tapping Phillips Countersunk #10X1 100
01234819 Self Tapping Phillips Countersunk #10X3/4 100
01233525 Self Tapping Phillips Countersunk #6X1 100
01233519 Self Tapping Phillips Countersunk 6X3/4 100
01233513 Self Tapping Phillips Countersunk #6X1/2 100
01234225 Self Tapping Phillips Countersunk #8X1 100
01234219 Self Tapping Phillips Countersunk #8X3/4 100
01234213 Self Tapping Phillips Countersunk #8X1/2 100
14575127 Cup Washer Stainless Steel #12 100
14575107 Cup Washer Stainless Steel #10 100
1457587 Cup Washer Stainless Steel #8 100
1457567 Cup Washer Stainless Steel #6 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

35

U.S. STAINLESS STEEL HARDWARE ASSORTMENT

STAINLESS STEEL U.S. COTTER PIN ASSORTMENT

19641095 - Total Pcs. 590
Art. # Description Size Qty.

10951382 Hex Head Bolt 3/8X2 10
1095138112 Hex Head Bolt 3/8X1-1/2 10
1095138114 Hex Head Bolt 3/8X1-1/4 10
10951381 Hex Head Bolt 3/8X1 10
109513834 Hex Head Bolt 3/8X3/4 10
10951562 Hex Head Bolt 5/16X2 10
1095156112 Hex Head Bolt 5/16X1- 1/2 10
10951561 Hex Head Bolt 5/16X1 10
109515634 Hex Head Bolt 5/16X3/4 10
10951142 Hex Head Bolt 1/4X2 10
1095114112 Hex Head Bolt 1/4X1-1/2 10
1095114114 Hex Head Bolt 1/4X1-1/4 10
10951141 Hex Head Bolt 1/4X1 10
109511434 Hex Head Bolt 1/4X3/4 10
1322138 Hex Nut 3/8-16 50
13221516 Hex Nut 5/16-18 50
1322114 Hex Nut 1/4-20 50
1407138 Flat Washer 3/8 50
14091516 Flat Washer 5/16 50
1409114 Flat Washer 1/4 50
144738 Flat Washer 3/8 50
1447516 Flat Washer 5/16 50
144714 Flat Washer 1/4 50

19641474 - Total Pcs. 825

Art. # Description Size Qty.

1474532112 Cotter Pin Stainless Steel 5/32x1-1/2 50
1474532114 Cotter Pin Stainless Steel 5/32x1-1/4 50
14745321 Cotter Pin Stainless Steel 5/32x1 50
1474182 Cotter Pin Stainless Steel 1/8x2 50
147418112 Cotter Pin Stainless Steel 1/8x1-1/2 50
147418114 Cotter Pin Stainless Steel 1/8x1-1/4 75
1474181 Cotter Pin Stainless Steel 1/8x1 50
14741834 Cotter Pin Stainless Steel 1/8x3/4 50
14743322 Cotter Pin Stainless Steel 3/32x2 50
1474332112 Cotter Pin Stainless Steel 3/32x1-1/2 50
1474332114 Cotter Pin Stainless Steel 3/32x1-1/4 50
14743321 Cotter Pin Stainless Steel 3/32x1 50
147433234 Cotter Pin Stainless Steel 3/32x3/4 50
14741161 Cotter Pin Stainless Steel 1/16x1 50
147411634 Cotter Pin Stainless Steel 1/16x3/4 50
147411612 Cotter Pin Stainless Steel 1/16x1/2 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

36

HEX WASHER HEAD SLOTTED ASSORTMENT

19640130 - Total Pcs. 850

Art. # Description Size Qty.

01306350 Hex Washer Head Slotted #14x2 25

01306338 Hex Washer Head Slotted #14x1-1/2 25

01306332 Hex Washer Head Slotted #14x1-1/4 25

01306325 Hex Washer Head Slotted #14x1 25

01306319 Hex Washer Head Slotted #14x3/4 25

01305550 Hex Washer Head Slotted #12x2 25

01305538 Hex Washer Head Slotted #12x1-1/2 25

01305532 Hex Washer Head Slotted #12x1-1/4 25

01305525 Hex Washer Head Slotted #12x1 25

01304838 Hex Washer Head Slotted #10x1-1/2 25

01304832 Hex Washer Head Slotted #10x1-1/4 25

01304825 Hex Washer Head Slotted #10x1 25

01304819 Hex Washer Head Slotted #10x3/4 25

01304813 Hex Washer Head Slotted #10x1/2 25

01304238 Hex Washer Head Slotted #8x1-1/2 50

01304232 Hex Washer Head Slotted #8x1-1/4 50

01304225 Hex Washer Head Slotted #8x1 50

01304219 Hex Washer Head Slotted #8x3/4 50

01304213 Hex Washer Head Slotted #8x1/2 50

01303538 Hex Washer Head Slotted #6x1-1/2 50

01303532 Hex Washer Head Slotted #6x1-1/4 50

01303525 Hex Washer Head Slotted #6x1 50

01303519 Hex Washer Head Slotted #6x3/4 50

01303513 Hex Washer Head Slotted #6x1/2 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

37

SAE GRADE 5 HARDWARE ASSORTMENT

19640071 - Total Pcs. 600

Art. # Description Size Qty.

007138134 Hex Head Bolt Grade 5 3/8X1- 3/4 10

007138112 Hex Head Bolt Grade 5 3/8X1 -1/2 10

007138114 Hex Head Bolt Grade 5 3/8X1- 1/4 10

0071381 Hex Head Bolt Grade 5 3/8X1 10

00713834 Hex Head Bolt Grade 5 3/8X3/4 10

0071516112 Hex Head Bolt Grade 5 5/16X1-1/2 10

0071516114 Hex Head Bolt Grade 5 5/16X1-1/4 10

00715161 Hex Head Bolt Grade 5 5/16X1 10

007151634 Hex Head Bolt Grade 5 5/16X3/4 10

007151612 Hex Head Bolt Grade 5 5/16X1/2 10

007114112 Hex Head Bolt Grade 5 1/4X1-1/2 10

007114114 Hex Head Bolt Grade 5 1/4X1-1/4 10

0071141 Hex Head Bolt Grade 5 1/4X1 10

00711434 Hex Head Bolt Grade 5 1/4X3/4 10

00711412 Hex Head Bolt Grade 5 1/4X1/2 10

033138 Hex Nut 3/8-24 50

0331516 Hex Nut 5/16-24 50

033114 Hex Nut 1/4-28 50

1407238 Flat Washer 3/8 50

14072516 Flat Washer 5/16 50

1407214 Flat Washer 1/4 50

044238 Lock Washer 3/8 50

0442516 Lock Washer 5/16 50

044214 Lock Washer 1/4 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

38

USS GRADE 5 HEX BOLTS/NUT ASSORTMENT

196400001 - Total Pcs. 1,140 (A/B Hardware Assortment)

Art. # Description Size Qty.

00727162 USS Hex Bolt Grade 5 7/16x2 20

0072716112 USS Hex Bolt Grade 5 7/16x1-1/2 25

00727161 USS Hex Bolt Grade 5 7/16x1 25

007238112 USS Hex Bolt Grade 5 3/8x1-1/2 25

007238212 USS Hex Bolt Grade 5 3/8x2-1/2 20

007238114 USS Hex Bolt Grade 5 3/8x1-1/4 25

0072381 USS Hex Bolt Grade 5 3/8x1 50

00723834 USS Hex Bolt Grade 5 3/8x3/4 50

0072382 USS Hex Bolt Grade 5 3/8x2 25

00725162 USS Hex Bolt Grade 5 5/16x2 25

0072516112 USS Hex Bolt Grade 5 5/16x1-1/2 50

0072516114 USS Hex Bolt Grade 5 5/16x1-1/4 50

00725161 USS Hex Bolt Grade 5 5/16x1 50

007251634 USS Hex Bolt Grade 5 5/16x3/4 50

007251612 USS Hex Bolt Grade 5 5/16x1/2 50

007214112 USS Hex Bolt Grade 5 1/4x1-1/2 50

007214114 USS Hex Bolt Grade 5 1/4x1-1/4 50

0072141 USS Hex Bolt Grade 5 1/4x1 50

00721412 USS Hex Bolt Grade 5 1/4x1/2 50

00721434 USS Hex Bolt Grade 5 1/4x3/4 50

0330716 USS Hex Nut Grade 5 7/16-14 50

033038 USS Hex Nut Grade 5 3/8-16 100

033014 USS Hex Nut Grade 5 1/4-20 100

0330516 USS Hex Nut Grade 5 5/16-18 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

39

USS GRADE 5 HARDWARE ASSORTMENT

19640072 - Total Pcs. 600

Art. # Description Size Qty.

007238134 Hex Head Bolt Grade 5 3/8X1- 3/4 10

007238112 Hex Head Bolt Grade 5 3/8X1 -1/2 10

007238114 Hex Head Bolt Grade 5 3/8X1 -1/4 10

0072381 Hex Head Bolt Grade 5 3/8X1 10

00723834 Hex Head Bolt Grade 5 3/8X3/4 10

0072516112 Hex Head Bolt Grade 5 5/16X1 -1/2 10

0072516114 Hex Head Bolt Grade 5 5/16X1 -1/4 10

00725161 Hex Head Bolt Grade 5 5/16X1 10

007251634 Hex Head Bolt Grade 5 5/16X3/4 10

007251612 Hex Head Bolt Grade 5 5/16X1/2 10

007214112 Hex Head Bolt Grade 5 1/4X1- 1/2 10

007214114 Hex Head Bolt Grade 5 1/4x1-1/4 10

0072141 Hex Head Bolt Grade 5 1/4X1 10

00721434 Hex Head Bolt Grade 5 1/4X3/4 10

00721412 Hex Head Bolt Grade 5 1/4X1/2 10

1407238 Flat Washer 3/8 50

14072516 Flat Washer 5/16 50

1407214 Flat Washer 1/4 50

044238 Lock Washer 3/8 50

0442516 Lock Washer 5/16 50

044214 Lock Washer 1/4 50

033038 Hex Nut 3/8-16 50

0330516 Hex Nut 5/16-18 50

033014 Hex Nut 1/4-20 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

40

FLAT & LOCK WASHER ASSORTMENT

SHIMS/ESCUCHEON/COTTER PIN ASSORTMENT

1964140742 - Total Pcs. 1,350

Art. # Description Size Qty.

1407234 SAE Flat Washer 3/4 25

1407212 SAE Flat Washer 1/2 50

14072716 SAE Flat Washer 7/16 100

1407238 SAE Flat Washer 3/8 100

14072516 SAE Flat Washer 5/16 200

1407214 SAE Flat Washer 1/4 200

044234 Spring Lock Washer 3/4 25

044212 Spring Lock Washer 1/2 50

0442716 Spring Lock Washer 7/16 100

044238 Spring Lock Washer 3/8 100

0442516 Spring Lock Washer 5/16 200

044214 Spring Lock Washer 1/4 200

196400007 - Total Pcs. 1,550

Art. # Description Size Qty.

142011187 Universal Alignment Shim 5/8x1/32 25

14202453 Body Shim 1-3/4x1/8 25

14203156 Body Shim 1-1/4x1/8 25

14203155 Body Shim 1-1/4x1/16 25

14205077 Caster Camber Shim 1/2x1/8 25

14205076 Caster Camber Shim 1/2x1/16 25

147018112 Cotter Pin 1/2x1-1/2 100

147018114 Cotter Pin 1/8x1-1/4 100

1470181 Cotter Pin 1/8x1 100

1470182 Cotter Pin 1/8x2 100

14701834 Cotter Pin 1/8x3/4 100

14701161 Cotter Pin 1/16x1 100

147011634 Cotter Pin 1/16x3/4 100

1470332112 Cotter Pin 3/32x1-1/2 100

1470332114 Cotter Pin 3/32x1-1/4 100

14703321 Cotter Pin 3/32x1 100

147033234 Cotter Pin 3/32x3/4 100

1470532112 Cotter Pin 5/32x1-1/2 100

1470532114 Cotter Pin 5/32x1-1/4 100

14705321 Cotter Pin 5/32x1 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

41

HEX NUT USS/SAE ZINC ASSORTMENT

USS/SAE NYLON LOCK NUT ASSORTMENT

1964033031 - Total Pcs. 850

Art. # Description Size Qty.

033134 SAE Hex Nut 3/4-16 25

033112 SAE Hex Nut 1/2-20 50

0331716 SAE Hex Nut 7/16-20 50

033138 SAE Hex Nut 3/8-24 100

0331516 SAE Hex Nut 5/16-24 100

033114 SAE Hex Nut 1/4-28 100

033034 USS Hex Nut 3/4-10 25

033012 USS Hex Nut 1/2-13 50

0330716 USS Hex Nut 7/16-14 50

033038 USS Hex Nut 3/8-16 100

0330516 USS Hex Nut 5/16-18 100

033014 USS Hex Nut 1/4-20 100

1964037374 - Total Pcs. 320

Art. # Description Size Qty.

037312 USS Nylon Lock 1/2-13 10

0373716 USS Nylon Lock 7/16-14 25

037338 USS Nylon Lock 3/8-16 25

0373516 USS Nylon Lock 5/16-18 50

037314 USS Nylon Lock 1/4-20 50

037412 SAE Nylon Lock 1/2-20 10

0374716 SAE Nylon Lock 7/16-20 25

037438 SAE Nylon Lock 3/8-24 25

0374516 SAE Nylon Lock 5/16-24 50

037414 SAE Nylon Lock 1/4-28 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

42

PHILLIPS PAN HEAD MACHINE SCREW ASSORTMENT

COTTER PIN ASSORTMENT

19640035 - Total Pcs. 825

Art. # Description Size Qty.

0035210112 Phillips Pan Head #10-32x1-1/2 25
00352101 Phillips Pan Head #10-32x1 25
003521034 Phillips Pan Head #10-32x3/4 25
003521012 Phillips Pan Head #10-32x1/2 25
003521014 Phillips Pan Head #10-32x1/4 25
003518112 Phillips Pan Head #8-32x1-1/2 25
0035181 Phillips Pan Head #8-32X1 25
00351834 Phillips Pan Head #8-32X3/4 25
00351812 Phillips Pan Head #8-32X1/2 25
00351814 Phillips Pan Head #8-32X1/4 25
003516112 Phillips Pan Head #6-32x1-1/2 25
0035161 Phillips Pan Head #6-32X1 25
00351634 Phillips Pan Head #6-32x3/4 25
00351612 Phillips Pan Head #6-32x1/2 25
00351614 Phillips Pan Head #6-32x1/4 25
03311032 Hex Nut #10-32 50
0330832 Hex Nut #8-32 50
0330632 Hex Nut #6-32 50
14072107 Flat Washer #10 50
1407287 Flat Washer #8 50
1407267 Flat Washer #6 50
044210 Lock Washer #10 50
04428 Lock Washer #8 50
04426 Lock Washer #6 50

19641470 - Total Pcs. 1,100

Art. # Description Size Qty.

1470532112 Cotter Pin 5/32x1-1/2 50
1470532114 Cotter Pin 5/32x1-1/4 50
14705321 Cotter Pin 5/32x1 50
1470182 Cotter Pin 1/8x2 50
147018112 Cotter Pin 1/8x1-1/2 50
147018114 Cotter Pin 1/8x1-1/4 100
1470181 Cotter Pin 1/8x1 100
14701834 Cotter Pin 1/8x3/4 100
14703322 Cotter Pin 3/32x2 50
1470332112 Cotter Pin 3/32x1-1/2 50
1470332114 Cotter Pin 3/32x1-1/4 50
14703321 Cotter Pin 3/32x1 50
147033234 Cotter Pin 3/32x3/4 50
14701161 Cotter Pin 1/16x1 100
147011634 Cotter Pin 1/16x3/4 100
147011612 Cotter Pin 1/16x1/2 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

43

USS/SAE MANIFOLD STUD ASSORTMENT

19641252 - Total Pcs. 55

Art. # Description Size Qty.

0252382 Stud w/Collar SAE 3/8X2 5

02538134 Stud w/Collar SAE 3/8X1-3/4 5

025238112 Stud w/Collar SAE 3/8X1-1/2 5

025256112 Stud w/Collar SAE 5/16X1-1/2 5

0252381121 Stud w/Collar USS 3/8X1-1/2 5

02525621 Stud w/Collar USS 5/16X2 5

0252561121 Stud w/Collar USS 5/16X1-1/2 5

0252561341 Stud w/Collar USS 5/16X1-3/4 5

02523821 Stud w/Collar USS Pan Thread 3/8X2 5

0252562 Stud USS/SAE 5/16X2 5

025256134 Stud USS/SAE 5/16X1-3/4 5



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

44

DRAIN PLUG ASSORTMENT

DRAIN PLUG SEALING RING ASSORTMENT

19641241 - Total Pcs. 95
Art. # Diameter

Thread 
Pitch

Wrench Application Qty.

1241157862 1/2” 20 1/2”
Chrysler/Dodge/Jeep 
w/ molded gasket

5

1241157717 1/2” 20 7/8” AMC, Chrysler, Ford 5
1241157715 1/2” 20 9/16” AMC, Chrysler, GMC 5
1241157817 1/2” 20 7/8” AMC, Chrysler, Ford 5

1241707740 M20 1.5 17MM
Honda, Subaru, Luv 
Truck

5

1241657742 M18 1.5 19MM Import 5

1241607739 M16.4 1.33 19MM
Renault, Volvo, Nissan 
Maxima

5

1241558007 M14 1.5 16MM Ford w/inset Gasket 5
02401415 M14 1.5 19MM Mercedes Benz 5
02421415 M14 1.5 13MM Mercedes Benz 5
1241557702 M14 1.5 16MM Ford Truck 5
1241557846 M14 1.5 17MM Honda 5
1241558019 M14 1.5 13MM Chrysler 5
1241407738 M12 1.25 14MM Nissan 5
1241407847 M12 1.25 14MM Nissan 5
1241407845 M12 1.5 13MM BMW 5
1241407868 M12 1.75 15MM GM w/inset Gasket 5
1241407725 M12 1.75 15MM GM w/inset Gasket 5
1241407860 M12 1.75 14MM Saturn w/inset Gasket 5

196414602 - Total Pcs. 550
Art. # Description Size Qty.

0464018282 Drain Plug Seal Toyota M18X28X2 25
0464012242 Drain Plug Seal Toyota M12X24X2 25
04671222 Drain Plug Seal Brass/Rubber GM M12x22 25
146401220 Drain Plug Seal Toyota Aluminum/Coated M12X20 25
04661424 Nylon Drain Plug M14X24 25
04661222 Nylon Drain Plug M12X22 25
046612 Nylon Drain Plug Seal M1/2x24x1.5 25
04662028 Nylon Drain Plug Seal 20MM 25
046616426 Nylon Drain Plug Seal Nissan 16.4MM 25
046202632 Copper Crush Washer M26X32 25
046202026 Copper Crush Washer M20X26 25
046201218 Copper Crush Washer M12X18 25
04602632 Sealing Ring M26X32 25
04632227 Sealing Ring Aluminum BMW M22X27 25
04602026 Sealing Ring M20X26 25
04601925 Sealing Ring CU-Volvo M19X25 25
04661422 Sealing Ring Nylon Ford M14x22x25 25
04631422 Sealing Ring Aluminum M14X22 25
04601420 Sealing Ring M14X20 25
04671409 OEM Ford Drain Plug Seal M14 25
04601824 OEM GM Drain Plug Seal M18X24 25
146314222 Honda Aluminum Seal M14X22X2 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

45

STANDARD LUG NUT ASSORTMENT

VACUUM CONNECTOR ASSORTMENT

196413691 - Total Pcs. 110

Art. # Description Size
Wrench 
Size

Finish Qty.

13690016 Lug Nut 60 ˚ 1/2x20 13/16 Zinc 25

13690017 Lug Nut 90 ˚ 1/2X20 13/16 Zinc 10

13690027 Lug Nut 1/2X20 3/4 Zinc 10

13690093 Lug Nut 1/2X20 13/16 Zinc 10

13690014 Lug Nut 7/16X20 3/4 Zinc 25

13690504 Lug Nut 1/2X20 3/4 Chrome 10

13690510 Lug Nut 1/2X20 13/16 Chrome 10

13690502 Lug Nut 7/16X20 3/4 Chrome 10

196415009 - Total Pcs. 80

Art. # Description Size Qty.

1500990516 Vacuum Connector Cap 5/16 5

150099014 Vacuum Connector Cap 1/4 5

1500990316 Vacuum Connector Cap 3/16 5

150099018 Vacuum Connector Cap 1/8 5

150099488 Vacuum Connector Straight 5/16 5

150099067 Vacuum Connector Straight 1/4 5

150099070 Vacuum Connector Straight 3/16 5

150099579 Vacuum Connector Straight 1/8 5

150099448 Vacuum Connector Y 5/16 5

150099668 Vacuum Connector Y 1/4 5

150099073 Vacuum Connector Y 3/16 5

150099325 Vacuum Connector T 5/16 5

150099353 Vacuum Connector T 1/4 5

150099095 Vacuum Connector T 3/16 5

150099322 Vacuum Connector T 1/8 5

150099115 Vacuum 4 Way Cross 3/16 5



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

46

EAR CLAMP ASSORTMENT

19640541 - Total Pcs. 400

Art. #
Clamping Range
Inches               mm

I.D.
Inches               mm

Qty.

0541965 .209-.255 5.3-6.5 1/4” 6.5 25

0541970 .228-.275 5.8-7.0 9/32” 7.0 25

0541980 .268-.315 6.8-8.0 5/16” 8.0 25

0541995 .307-.374 7.8-9.5 3/8” 9.5 25

05419105 .346-.413 8.8-10.5 13/32” 10.5 25

05419113 .378-.445 9.6-11.3 7/16” 11.3 25

05419123 .385-.484 9.8-12.3 15/32” 12.3 25

05419133 .425-.524 10.8-13.3 1/2” 13.3 25

05419138 .449-.543 11.3-13.8 17/32” 13.8 25

05419145 .472-.571 12.0-14.5 9/16” 14.5 25

05419157 .520-.618 12.2-15.7 5/8” 15.7 25

05419170 .571-.669 14.5-17.0 11/16” 17.0 25

05419185 .602-.728 15.3-18.5 23/32” 18.5 25

05419198 .654-.779 16.6-19.8 3/4” 19.8 25

05419210 .701-.827 17.8-21.0 13/16” 21.0 25

05419226 .764-.890 19.4-22.6 7/8” 22.6 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

47

RUBBER GROMMET ASSORTMENT

196405616 - Total Pcs. 230

Art. # Description Size Qty.

0561116 Blanking Grommet 16MM 25

0561114 Blanking Grommet 14MM 25

0561112 Blanking Grommet 12MM 25

0561110 Blanking Grommet 10MM 25

056116 Blanking Grommet 6MM 25

05616665 Double Flange Grommet 21X31X38 10

05616663 Double Flange Grommet 16X24X30 10

05616652 Double Flange Grommet 12X20X24 25

05616650 Double Flange Grommet 10X12X18 25

05616648 Double Flange Grommet 9X11X16 25

05616640 Single Flange Grommet 10X14X18 10



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

48

DEUTSCH CONNECTORS - DT SERIES ASSORTMENT

19648871 - Total Pcs. 599

Art. # Description Deutsch # Qty.

0558203104
Solid Crimp Contact, Pin, Nickel Plated 
(14 AWG)

0460-215-
16141

50

0558203004
Solid Crimp Contact, Socket, Nickel Plated
(14 AWG)

0462-209-
16141

50

0558204103
Stamped and Formed Contact, Pin, Nickel plated 
(14-16 AWG)

1060-14-
0122

25

0558204003
Stamped and Formed Contact, Socket, Nickel 
plated (14-16 AWG)

1062-14-
0122

25

0558203102
Solid Crimp Contact, Pin, Nickel Plated  
(16-20 AWG)

0460-202-
16141

50

0558203002
Solid Crimp Contact, Socket, Nickel Plated 
(16-20 AWG)

0462-201-
16141

50

0555208001 Universal Sealing Plug (12-20 AWG) 114017 25

055520020 Receptacle for DT Series - 2 Pin DT04-2P 2

055520030 Receptacle for DT Series - 3 Pin DT04-3P 2

055520040 Receptacle for DT Series - 4 Pin DT04-4P 2

055520060 Receptacle for DT Series - 6 Pin DT04-6P 2

055520080 Receptacle for DT Series - 8 Pin DT04-08PA 2

0555200120 Receptacle for DT Series - 12 Pin DT04-12PA 2

055520021 Plug for DT Series - 2 Pin DT06-2S 2

055520031 Plug for DT Series - 3 Pin DT06-3S 2

055520041 Plug for DT Series - 4 Pin DT06-4S 2

055520061 Plug for DT Series - 6 Pin DT06-6S 2

055520081 Plug for DT Series -  8 Pin DT06-08SA 2

0555200121 Plug for DT Series - 12 Pin DT06-12SA 2

0555209002 Receptacle Wedge Lock for DT Series - 2 Pin W2P 25

0555209003 Receptacle Wedge Lock for DT Series - 3 Pin W3P 25

0555209004 Receptacle Wedge Lock for DT Series - 4 Pin W4P 25

0555209006 Receptacle Wedge Lock for DT Series - 6 Pin W6P 25

0555209008 Receptacle Wedge Lock for DT Series - 8 Pin W8P 25

0555209012 Receptacle Wedge Lock for DT Series - 12 Pin W12P 25

0555209102 Plug Wedge Lock for DT Series - 2 Pin W2S 25

0555209103 Plug Wedge Lock for DT Series - 3 Pin W3S 25

0555209104 Plug Wedge Lock for DT Series - 4 Pin W4S 25

0555209106 Plug Wedge Lock for DT Series - 6 Pin W6S 25

0555209108 Plug Wedge Lock for DT Series - 8 Pin W8S 25

0555209112 Plug Wedge Lock for DT Series - 12 Pin W12S 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

49

DEUTSCH CONNECTORS - DTM SERIES ASSORTMENT

19648872 - Total Pcs. 449

Art. # Description Deutsch # Qty.

0558203101
Solid Crimp Contact, Pin, Nickel Plated
(20 AWG)

0460-202-
20141

50

0558203001
Solid Crimp Contact, Socket, Nickel Plated  
(20 AWG)

0462-201-
20141

50

0555208001 Universal Sealing Plug (12-20 AWG) 114017 25

055520420 Receptacle for DTM Series - 2 Pin DTM04-2P 2

055520430 Receptacle for DTM Series - 3 Pin DTM04-3P 2

055520440 Receptacle for DTM Series - 4 Pin DTM04-4P 2

055520460 Receptacle for DTM Series - 6 Pin DTM04-6P 2

055520480 Receptacle for DTM Series - 8 Pin DTM04-08PA 2

0555204120 Receptacle for DTM Series - 12 Pin DTM04-12PA 2

055520421 Plug for DTM Series - 2 Pin DTM06-2S 2

055520431 Plug for DTM Series - 3 Pin DTM06-3S 2

055520441 Plug for DTM Series - 4 Pin DTM06-4S 2

055520461 Plug for DTM Series - 6 Pin DTM06-6S 2

055520481 Plug for DTM Series - 8 Pin DTM06-8S 2

0555204121 Plug for DTM Series - 12 Pin DTM06-12S 2

0555209402 Receptacle Wedge Lock for DTM Series - 2 Pin WM2P 25

0555209403 Receptacle Wedge Lock for DTM Series - 3 Pin WM3P 25

0555209404 Receptacle Wedge Lock for DTM Series - 4 Pin WM4P 25

0555209406 Receptacle Wedge Lock for DTM Series - 6 Pin WM6P 25

0555209408 Receptacle Wedge Lock for DTM Series - 8 Pin WM8P 25

0555209412 Receptacle Wedge Lock for DTM Series - 12 Pin WM12P 25

0555209502 Plug Wedge Lock for DTM Series - 2 Pin WM2S 25

0555209503 Plug Wedge Lock for DTM Series - 3 Pin WM3S 25

0555209504 Plug Wedge Lock for DTM Series - 4 Pin WM4S 25

0555209506 Plug Wedge Lock for DTM Series - 6 Pin WM6S 25

0555209508 Plug Wedge Lock for DTM Series - 8 Pin WM8S 25

0555209512 Plug Wedge Lock for DTM Series - 12 Pin WM12S 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

50

DEUTSCH CONNECTORS - DTP SERIES ASSORTMENT

19648873 - Total Pcs. 283

Art. # Description Deutsch # Qty.

0558204105
Stamped and Formed Contact, Pin,  
TIN/Nickel plated (12-14 AWG)

1060-12-
0166

25

0558204005
Stamped and Formed Contact, Socket,  
TIN/Nickel plated (12-14 AWG)

1062-12-
0166

25

0555208001 Universal Sealing Plug (12-20 AWG) 114017 25

0558203105
Solid Crimp Contact, Pin, Nickel Plated 
(12-14 AWG)

0460-204-
12141

50

0558203005
Solid Crimp Contact, Socket, Nickel Plated
(12-14 AWG)

0462-203-
12141

50

055520220 Receptacle for DTP Series - 2 Pin DTP04-2P 2

055520240 Receptacle for DTP Series - 4 Pin DTP04-4P 2

055520221 Plug for DTP Series - 2 Pin DTP06-2S 2

055520241 Plug for DTP Series - 4 Pin DTP06-4S 2

0555209202 Receptacle Wedge Lock for DTP Series - 2 Pin WP2P 25

0555209204 Receptacle Wedge Lock for DTP Series - 4 Pin WP4P 25

0555209302 Plug Wedge Lock for DTP Series - 2 Pin WP2S 25

0555209304 Plug Wedge Lock for DTP Series - 4 Pin WP4S 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

51

WIRE HARNESS ASSORTMENT

1964556 - Total Pcs. 34

Art. # Description Qty.

155647002 Bulb Socket for 19A & 194 A 5

155647003 Bulb Socket for 9004 & 9007 4

155617005 Bulb Socket for 3156 2

155647004 Pigtail Connector for 9005 Bulbs 4

155647005 Pigtail Socket for 9006 4

155647001 Pigtail Socket 3 Wire 2

155637004 Pigtail Socket Repair Harness 2

155648002 Universal Sealed Beam Headlamp 5

155617013 Right Angle Bulb Socket for 194 Bulb 4

155617001 Bulb Socket for 3057 2

VINYL INSULATED ELECTRICAL CONNECTOR ASSORTMENT

196405581 - Total Pcs. 445
Art. # Description Size Gauge Qty.

0555564 Scotch Lock Blue N/A 12-16 20

05589051 Female Spade Red 6.3MM 22-18 25

05589052 Female Spade Blue 6.3MM 16-14 25

05589054 Female Spade Yellow 6.3MM 12-10 25

05589441 Male Spade Red 1/4” 22-18 25

05589452 Male Spade Blue 3/16” 16-14 25

05589011 Ring Terminal Red M4 22-18 25

05589092 Ring Terminal Blue 5MM 16-14 25

05589082 Ring Terminal Blue 4MM 16-14 25

05589102 Ring Terminal Blue 6MM 16-14 25

05589164 Ring Terminal Yellow 6MM 12-10 25

05589251 Butt Connector Red N/A 22-18 25

05589262 Butt Connector Blue N/A 16-14 25

05589461 Male Bullet Connector Red M4 22-18 25

05589482 Male Bullet Connector Blue M5 16-14 25

05589471 Female Bullet Red M4 22-18 25

05589492 Female Bullet Connector Blue M5 16-14 25

05589432 Piggyback Spade Blue 1/4” 16-14 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

52

NYLON INSULATED ELECTRICAL CONNECTOR ASSORTMENT

19641559 - Total Pcs. 600
Art. # Description Size Gauge Qty.

15596524 3M Style Push Male Fully Insulated 1/4 16-14 25

1559611414 Male Spade Nylon Red 1/4 22-18 25

1559612414 Male Nylon Spade Blue 1/4 16-14 25

15596914 Male Nylon Bullet Red N/A 22-18 25

15596924 Male Nylon Bullet Blue N/A 16-14 25

1559611514 Female Spade Nylon Red 1/4 22-18 25

1559612514 Female Nylon Spade Blue 1/4 16-14 25

15596915 Female Nylon Bullet Red N/A 22-18 25

1559692 Female Nylon Bullet Blue N/A 16-14 25

15596525 3M Style Female Fully Insulated 1/4 16-14 25

1559641 Butt Connector Nylon Red N/A 22-18 25

1559642 Butt Connector Nylon Blue N/A 16-14 25

1559643 Butt Connector Nylon Yellow N/A 12-10 25

15596214 Nylon Ring Red M4 22-18 25

1559621010 Nylon Ring Red #10 22-18 25

15596216 Nylon Ring Red M6 22-18 25

15596228 Nylon Ring Blue 5/16 16-14 25

15596225 Nylon Ring Blue #10 16-14 25

15596226 Nylon Ring Blue 1/4 16-14 25

15596238 Nylon Ring Yellow M8 12-10 25

155962310 Nylon Ring Yellow M10 12-10 25

15591375 Nylon Ring Yellow 1/4 12-10 25

0555564 Scotch Lock Blue 12-16 12-16 25

0555952 Tee Tap Blue N/A 12-16 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

53

CRIMP & SEAL ELECTRICAL CONNECTOR ASSORTMENT

CRIMP/SOLDER/SEAL CONNECTOR ASSORTMENT

196415591 - Total Pcs. 160

Art. # Description Gauge Size Qty.

155972338 Krimpa Seal Ring 10-12 5/8 10
155972256 Krimpa Seal Ring 14-16 5/16 10
155972114 Krimpa Seal Ring 18-20 1/4 10
1559651518 3M Type Push Female 18-20 1/4 10
1559652010 3M Type Push Female 10-12 1/4 10
15595114 3M Type Push ML 18-20 1/4 10
15595124 3M Style Push ML 16-14 1/4 10
15595134 3M Type Push ML 10-12 1/4 10
1559741 Butt Connector Red Krimpa 18-20 N/A 10
1559742 Butt Connector Blue Krimpa 14-16 N/A 10
1559743 Butt Connector Yellow Krimpa 10-12 N/A 10
15597924 Bullet ML Blue Krimpa 14-16 N/A 10
15597914 Bullet ML Red Krimpa 18-20 N/A 10
15597925 Bullet Plug FM Blue Krimpa 16-14 N/A 10
15597915 Bullet Femal Red Krimpa 18-20 N/A 10
1559512516 Full Insulated Female Spade 16-14 1/4 10

196415592 - Total Pcs. 210

Art. # Description Gauge Size Qty.

1559941 Red Butt Crimp/Shrink/Solder 22-18 N/A 10
1559942 Blue Butt Crimp/Shrink/Solder 16-14 N/A 10
1559943 Yellow Butt Crimp/Shrink/Solder 12-10 N/A 10
155993110 Crimp Solder Seal Red Fork 22-18 #10 10
155991110 Crimp Solder Seal Red Ring 22-18 #10 10
155991114 Crimp Solder Seal Red Ring 22-18 1/4 10
155991108 Crimp Solder Seal Red Ring 22-18 #8 10
1559951214 Crimp Solder Seal Female Spade Red 22-18 1/4 10
1559951114 Crimp Solder Seal Male Spade Red 22-18 1/4 10
155991208 Crimp Solder Seal Blue Ring 16-14 #8 10
155991256 Crimp Solder Seal Blue Ring 16-14 5/16 10
155991210 Crimp Solder Seal Blue Ring 16-14 #10 10
155991214 Crimp Solder Seal Blue Ring 16-14 1/4 10
155991238 Crimp Solder Seal Blue Ring 16-14 3/8 10
1559952114 Crimp Solder Seal Male Spade Blue 16-14 1/4 10
1559952214 Crimp Solder Seal Female Spade Blue 16-14 1/4 10
155993210 Crimp Solder Seal Blue Fork 16-14 #10 10
155991314 Crimp Solder Seal Yellow Ring 12-10 1/4 10
155991338 Crimp Solder Seal Yellow Ring 12-10 3/8 10
1559953114 Crimp Solder Seal Male Spade Yellow 12-10 1/4 10
1559953214 Crimp Solder Seal Female Spade Yellow 12-10 1/4 10



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

54

SOLDER/SEAL ELECTRICAL CONNECTOR ASSORTMENT

SOLDER/SEAL CONNECTOR ASSORTMENT

196415552 - Total Pcs. 120

Art. # Description Gauge Qty.

05559051 Female Heat Shrink Solder 22-18 10

05559441 Red Male Spade Shrink/Solder 22-18 10

05559052 Blue Female Spade Shrink/Solder 16-14 10

05559452 Blue Male Spade Shrink/Solder 16-14 10

05559054 Yellow Female Spade Shrink/Solder 12-10 10

05559462 Yellow Male Spade Shrink/Solder 12-10 10

155982108 Red Ring #8 Shrink/Solder 22-18 10

1559822010 Blue Ring #10 Shrink/Solder 16-14 10

1559823014 Yellow Ring 1/4” Shrink/Solder 12-10 10

1559841 Red Butt Shrink/Solder 22-18 10

1559842 Blue Butt Shrink/Solder 16-14 10

1559843 Yellow Butt Shrink/Solder 12-10 10

196415553 - Total Pcs. 240
Art. # Description Gauge Qty Art. # Description Gauge Qty

05559051 Red Female Spade 22-18 10 1559822014 Blue Ring 1/4" 16-14 10

05559052 Blue Female Spade 16-14 10 1559822038 Blue Ring 3/8" 16-14 10

05559054 Yellow Female Spade 12-10 10 1559823010 Yellow Ring #10 12-10 10

1559831 Red Fork 22-18 10 1559823014 Yellow Ring 1/4" 12-10 10

1559832 Blue Fork 16-14 10 1559823038 Yellow Ring 3/8" 12-10 10

1559833 Yellow Fork 12-10 10 1559844 Clear Butt 24-22 10

155982106 Red Ring #6 22-18 10 1559841 Red Butt 22-18 10

155982108 Red Ring #8 22-18 10 1559842 Blue Butt 16-14 10

1559821010 Red Ring #10 22-18 10 1559843 Yellow Butt 12-10 10

1559821014 Red Ring 1/4" 22-18 10 05559441 Red Male Spade 22-18 10

155982208 Blue Ring #8 16-14 10 05559452 Blue Male Spade 16-14 10

1559822010 Blue Ring #10 16-14 10 05559462 Yellow Male Spade 12-10 10



©
 2

01
5 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

03
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

55

MULTIPLE WIRE SHRINK CONNECTOR & TUBING ASSORTMENT

WEATHER PAK CONNECTOR ASSORTMENT

196415590 - Total Pcs. 76

Art. # Description Qty.

17715406 High Adhesive Heat Shrink Tubing 24-12 4

17715416 High Adhesive Heat Shrink Tubing 22-10 4

17715426 High Adhesive Heat Shrink Tubing 16-8 4

17715436 High Adhesive Heat Shrink Tubing 14-4 4

15555720 In-Line Butt Connector 24-22 AWG 10

15555716 In-Line Butt Connector 20-18 AWG 10

15555714 In-Line Butt Connector 16-14 AWG 10

15555710 In-Line Butt Connector 12-10 AWG 10

155882214 Closed-End Connector 22-14 AWG 10

155881810 Closed-End Connector 18-10 AWG 10

196415593 - Total Pcs. 75

Art. # Description Gauge Qty.

1558352004 GM Pack Connector Male 18-14 5

15585103 GM Weatherpak 2 Part Terminal Male 20-16 5

15589104 GM Weatherpak 2 Part Female 20-16 5

1558351801 GM Metri Pak Male 18-14 5

1558341401 GM Pack Connector 1 Series 16-14 5

1558341801 GM Metri Pak Female 18-14 5

1558342007 GM Electrical Control 20-18 5

1558342008 GM Micro Pak 20-18 5

1558342009 GM Metri Pak Female 20-18 5

1558352001 GM Metri Pak Male 20-18 5

1558441601 GM 56 Series Terminal 16-14 5

1558441603 GM 56 Series Male 16-14 5

1558152001 Ford Wedgelock Pin Male 20-18 5

1558142002 Ford Female Box Terminal 20-18 5

1558440001 Universal OEM Terminal Female 20-18 5



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

56

DOMESTIC & JAPANESE BULB ASSORTMENT

19641721 (bulb rack not included) - Total Pcs. 176

Art. # Description Qty.

172009004 Sylvania Halogen 9004 12V-65 2

172009005 Sylvania Halogen Amps 9005 2

172009006 Sylvania Halogen Amps 12V-55W 2

1720011561 12V-26W SC Bay 5-8 10

1720089 Sylvania G6 SC BAY 89 13V-7.5W 10

172001157 12V-26/8W DC Index 5-8 10

1720011571 12V-26/8W DC Index 5-8 10

17200194 14V-3.78W Wedge 5-8 10

172001941 Sylvania w/Wedge T3.25 194NA 14V-3.78W 10

172002057 Sylvania 58 1057 12V-26/6W 10

1720020571 Sylvania 58 2057NA 12V-26/6W 10

172003057 12.8V-2.1 w/Wedge (2358) 10

1720030571 Sylvania w/Wedge 3057NA 12.8V-26/8W 10

172003156 12.8V 12W Wedge Base 10

172003157 12V-12.8 Index (2458) 10

1720031571 12V-12.8W PL Index (2458) 10

1720067 13.5V-8W SC BAY 10

17200912 12V-13W Wedge T-5 10

17200921 12V-18W Wedge 10

172001156 12V-26W SC BAY S-8 10

Art. # 19667211- Clear Plastic Replacement 
Tray For Bulb Rack Above

Art. # 1966720 - Bulb Rack

Width 19”

Height 26-3/4”

Depth 4”



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

57

Art. # 19667211- Clear Plastic Replacement 
Tray For Bulb Rack Above

Art. # 1966720 - Bulb Rack

EUROPEAN BULB ASSORTMENT

19641720 (bulb rack not included) - Total Pcs. 165

Art. # Description Qty.

172009004 Sylvan. Halogen 9004 12V-65 1

172009006 Sylvan. Halogen Amps 12V-55W 1

07201156 Osram12V S 10

07201341 12V-21/5W Socket(1157,7528) 10

07201601 12V-1.2W No Socket(2721) 10

07201661 12V-1.2W Black Dash BMW 10

07201611 12V-3W No Socket (2821) 10

07201621 12V-5W No Socket (2825) 10

07201501 12V-4W Socket Bulb(3893) 10

07201551 2V-2W Socket Bulb(3898) 10

07201401 12V-5W Socket Bulb(5007) 10

07201411 12V-10WSocket Bulb(5008) 10

07201731 12V 10W Bullet Type 6411 10

07201111 High 12 V-55 Halogen (64150) 1

07201121 H3 12V-55W HA(64151) 1

07201711 12V 5W Bullet Type (6418) 10

17207225 1157 Offset Tabs 12V-21/4 10

07201321 12V-21W Socket(1156/7506) 10

172001157 2V-26/8W DC INDEX S-8 10

172009005 Sylvan. Halogen Amps 9005 1

172026736 Firstec JP Dome 26736 12V-10W 10

Width 19”

Height 26-3/4”

Depth 4”



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

58

DURATEK MASTER BULB ASSORTMENT

SHRINK TUBE ASSORTMENT

196417201 (2 boxes) - Total Pcs. 206
Art. # Description Qty.

172096411 Duratek 64151 H3 55W 2
1720964153 Duratek 64153 H3 100W 2
172096413 Duratek 9003 H4 60/55 2
1720990043 Duratek 9004 100/80 2
172099004 9004 12V 65/45W 2
172099005 Duratek 9005 65W 2
172099006 Duratek 9006 55W 2
172099007 Duratek 9007 Bulb 2
17209906 Duratek 906  Bulb 10
17209921 Duratek 921  Bulb 10
17209194 Duratek 194  Bulb 10
172091941 Duratek 194 Amber Bulb 10
1720974 Duratek 74 B Bulb 10
1720911561 Duratek 1156 Amber Bulb 10
1720920571 Duratek 2057Amber Bulb 10
1720911571 Duratek 1157 Amber Bulb 10
1720923571 Duratek 2357 Amber Bulb 10
172091156 Duratek 1156 Bulb 10
172092057 Duratek 2057 Bulb 10
172091157 Duratek 1157 Bulb 10
172092357 Duratek 2357Bulb 10
172091003 Duratek 1003 Bulb 10
1720997 Duratek 97 Bulb 10
1720989 Duratek 89 Bulb 10
1720967 Duratek 67 Bulb 10
172091895 Duratek 1895 Bulb 10
172091893 Duratek 1863 Bulb 10

196407710 - Total Pcs. 66

Art. # Description Size in MM Qty.

077102540 Shrink Tubing 25x100 5

077101900 Shrink Tubing 19x100 5

077101270 Shrink Tubing 12x100 5

077100950 Shrink Tubing 9x100 10

077100640 Shrink Tubing 6x100 10

077100480 Shrink Tubing 4x100 10

077100320 Shrink Tubing 3x100 10

077100240 Shrink Tubing 2x100 10

1999180 WURTH Lighter 1



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

59

BATTERY RING TERMINAL  ASSORTMENT W/SOLDER SLUGS & HEAT SHRINK

BATTERY TERMINAL ASSORTMENT W/SOLDER SLUGS & HEAT SHRINK

196405572 - Total Pcs. 65

Art. # Description Gauge Qty.

155754380 Copper Lug 4 5

1557520380 Copper Lug 2/0 5

15574238 Copper Lug 2 5

15109501 Battery Solder Slug Grey 4 10

15109505 Battery Solder Slug Orange 2/0 10

15109502 Battery Solder Slug Green 2 10

177121201 Heat Shrink Black 8x1” 10

177121301 Heat Shrink Red 8x1” 10

19641510 - Total Pcs. 68

Art. # Description Gauge Qty.

15109501 Battery Solder Slug Grey 4 10

15109502 Battery Solder Slug Green 2 10

15109505 Battery Solder Slug Orange 2/0 10

15105070 Crimp Battery Terminal NEG 2/0 3

151050809 Crimp Battery Terminal POS 2/0 3

15105030 Crimp Battery Terminal NEG 1-2 3

15105040 Crimp Battery Terminal POS 1-2 3

15105010 Crimp Battery Terminal NEG 4 3

15105020 Crimp Battery Terminal POS 4 3

177121201 Heat Shrink Tube Polyolefin Black 8x1” 10

177121301 Heat Shrink Tube Polyolefin Red 8x1” 10



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

60

ASSORTED FUSE ASSORTMENT

REGULAR BLADE FUSE ASSORTMENT

19641730 - Total Pcs. 240
Art. # Description Amp Qty.

07302540 Fuse Grey 40 20

073025161 Fuse Red 16 40

0730258 Fuse White 8 40

0731030 ATO Green 30 10

0731025 ATO Grey 25 10

0731020 ATO Yellow 20 10

0731015 ATO Blue 15 10

0731010 ATO Red 10 10

07310075 ATO Brown 7.5 10

0731005 ATO Gold 5 10

0731003 ATO Violet 3 10

0733205 Glass Fuse Radio 5 20

0733202 Glass Fuse Radio 2 20

07302525 Fuse Blue 25 20

196417310 - Total Pcs. 160

Art. # Description Amp Qty.

0731030 ATO Fuse Green 30 20

0731025 ATO Fuse Grey 25 20

0731020 ATO Fuse Yellow 20 20

0731015 ATO Fuse Blue 15 20

0731010 ATO Fuse Red 10 20

07310075 ATO Fuse Brown 7.5 20

0731005 ATO Fuse Gold 5 20

0731003 ATO Fuse Violet 3 20



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

61

MINI BLADE FUSE ASSORTMENT

MAX/MINI BLADE FUSE ASSORTMENT

196417311 - Total Pcs. 100
Art. # Description Amp Qty.

1731102 Mini Fuse Black 2 10

1731103 Mini Fuse Purple 3 10

1731104 Mini Fuse Pink 4 10

1731105 Mini Fuse Dark Yellow 5 10

1731175 Mini Fuse Brown 7.5 10

1731110 Mini Fuse Dark Red 10 10

1731115 Mini Fuse Blue 15 10

1731120 Mini Fuse Yellow 20 10

1731125 Mini Fuse Clear 25 10

1731130 Mini Fuse Green 30 10

196417312 - Total Pcs. 60
Art. # Description Amp Qty.

1731102 Mini Fuse Black 2 5

1731103 Mini Fuse Purple 3 5

1731104 Mini Fuse Pink 4 5

1731105 Mini Fuse Dark Yellow 5 5

1731175 Mini Fuse Brown 7.5 5

1731110 Mini Fuse Dark Red 10 5

1731115 Mini Fuse Blue 15 5

1731120 Mini Fuse Yellow 20 5

1731125 Mini Fuse Clear 25 5

1731130 Mini Fuse Green 30 5

1731220 Maxi Fuse Yellow 20 2

1731230 Maxi Fuse Green 30 2

1731240 Maxi Fuse Orange 40 2

1731250 MaxiFuse Red 50 2

1731260 Maxi Fuse Red 60 2



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

62

ATO MINI/MAXI FUSE  ASSORTMENT

TRACER WIRE ASSORTMENT W/RACK

196400008 - Total Pcs. 240
Art. # Description Amp Qty.

0731030 ATO Fuse Green 30 20
0731025 ATO Fuse Grey 25 20
0731015 ATO Fuse Blue 15 20
0731010 ATO Fuse Red 10 20
07310075 ATO Fuse Brown 7.5 20
0731005 ATO Fuse Gold 5 20
0731003 ATO Fuse Violet 3 20
1731125 Mini Fuse Clear 25 5
1731120 Mini Fuse Yellow 20 5
1731115 Mini Fuse Blue 15 5
1731110 Mini Fuse Dark Red 10 5
1731105 Mini Fuse Dark Yellow 5 5
1731103 Mini Fuse Purple 3 5
1731102 Mini Fuse Black 2 5
1731130 Mini Fuse Green 30 5
1731175 Mini Fuse Brown 7.5 5
1731260 Maxi Fuse Blue 60 2
1731250 Maxi Fuse Red 50 2
1731240 Maxi Fuse Orange 40 2
1731220 Maxi Fuse Yellow 20 2
0731040 ATO Fuse Orange 40 20
1731104 Maxi Fuse Pink 4 5
0731020 ATO Fuse Yellow 20 20
1731230 Maxi Fuse 30amp Green 30 2

196417709 - 100 ft. Spools
Art. # Description Gauge Qty.

1770991131 Tracerwire Black/Red 18 1
1770993041 Tracerwire Red/Yellow 18 1
1770994011 Tracerwire Yellow/Black 18 1
1770996011 Tracerwire White/Black 18 1
1770996051 Tracerwire White/Brown 18 1
1770996081 Tracerwire White/Purple 18 1
1770997061 Tracerwire Orange/White 18 1
1770991840 Wire Yellow 18 1
1770991860 Wire White 18 1
1770991800 Wire Blue 18 1
1770900151 Empty Wire Rack - 12 Roll 1



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

63

BLACK TIE STRAP ASSORTMENT

ASSORTED BLACK TIE STRAP ASSORTMENT W/ RACK

196415021 - Total Pcs. 200

Art. # Description Size Qty.

0502111 Tie Strap 2.5x100 (4”) 50

0502121 Tie Strap 3.5x137.5 (5-1/2”) 50

0502141 Tie Strap 4.8x175 (7”) 50

0502151 Tie Strap 4.8x275 (11”) 25

0502161 Tie Strap 4.8x350 (14”) 25

196415022 - Total Pcs. 800

Art. # Description Size Qty.

0502161 Tie Strap 4.8x350 (14”) 200

0502151 Tie Strap 4.8x275 (11”) 200

0502141 Tie Strap 4.8x175 (7”) 200

0502111 Tie Strap 2.5x100 (4”) 200



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

64

DOMESTIC O-RING ASSORTMENT - 2 DRAWERS

1964076500 (box 1) - Total Pcs. 240
Art. # Description Qty.

076409102 7mm Toyota/Import Hose Fitting/Drier O-Ring 10
0764941094 GM Orifice Tube O-Ring (OEM#52450547) 10
076409008 Capillary Tube O-Ring 10
0764092122 Ford R-134a Pressure Cycling Switch O-Ring 10
076409001 GM Low Side Switch/Accumulator Port O-Ring (OEM#52450548) 10
0764091055 Ford No. 8 Metric Springlock O-Ring (OEM#391397-S100) 10
076409103 GM Orifice Tube O-Ring 10
076409010 Nissan 8mm Switch, Liquid Line, STV, Expansion Valve O-Ring 10
0764091155 Ford & Import No. 6 Metric Springlock Fitting O-Ring 10
076409011 No. 6 Hose Fitting & Filter Drier O-Ring 10
076409012 GM & Ford Pressure Cycling Switch O-Ring (Non-Metric) 10
0764091355 Ford No. 10 Metric Springlock O-Ring 10
076409013 No. 8 Hose Fitting O-Ring 10
076409145 Nihon DKV14C Dishcarge Port O-Ring 10
076409014 No. 8 Compression Fitting O-Ring 10
076409015 No. 10 Compression Fitting O-Ring 10
0764091655 Ford No. 12 Metric Springlock O-Ring (OEM#391305-S100) 10
076409016 GM No. 12 Hose Fitting O-Ring 10
076409017 No. 12 Hose Fitting O-Ring 10
076409108 No. 6 GM Captive O-Ring 10
076409110 No. 8 GM Captive O-Ring 10
076409111 Nissan 12mm & Hitachi Compressor Discharge O-Ring 10
076409112 No. 10 GM Captive O-Ring 10
076409113 No. 12 GM Captive O-Ring 10

1964076500 (box 2) - Total Pcs. 240
Art. # Description Qty.

076409114 Sanden Compressor Pad Mount Discharge O-Ring 10
076409115 Diesel Kiki DKS13G, 17G Discharge Port O-Ring 10
076409116 Nippondenso 10P Comp, Suct. & Discharge Port O-Ring 10
0764090180 Ford FS6, Nippondenso 10P15 Oval Service Valve O-Ring 10
076409117 Sanden TRF105, TRS105 Suction Port O-Ring 10
076409118 GM Compressor Switch Port O-Ring 10
076409211 GM A6, DA6, HR6, V5 Service Valve O-Ring - 1987 & prior 10
076409211 GM R4, DA6, HR6, HR6HE, V5 Oval Serv. O-Ring - 1988 & up 10
076409212 GM R4 Service Valve O-Ring 1987 & prior 10
076409515 GM 5/8“ Dual Metric O-Ring (#15-3982 Replaces #15-3917) 10
076409640 GM 3/4” Dual Metric O-Ring (#15-3982 Replaces #15-3918) 10
076409901 Nissan 6mm STV, Expansion Valve O-Ring 10
076409903 Ford Orifice Tube O-Ring 10
076409905 Nippondenso 7SB16C Compressor Discharge Ftg O-Ring 10
076409906 GM 11mm O-Ring 10
076409910 Misc. Import/Domestic Compressor Service Port O-Ring 10
076409955 GM 1/2” Dual Metric O-Ring (#15-3978 Replaces #15-39-16) 10
0764963203 York & Tecumseh Compressor Rotolock Teflon Seal 10
0764931590 Chrysler, Ford, Import No. 6 Springlock Garter Spring 10
0764931592 Chrysler, Ford, Import No. 8 Springlock Garter Spring 10
0764931594 Chrysler, Ford, Import No. 10 Springlock Garter Spring 10
0764931596 Chrysler, Ford, Import No. 12 Springlock Garter Spring 10
0892764029 R12/R-134a POE Oil Tube 4cc - For O-Rings/Seals/Parts 10
076409105 GM/Suzuki 11mm 10



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

65

O-RING ASSORTMENT (NOT FOR AC APPLICATION)

AC ORIFICE TUBE ASSORTMENT

196404685 - Total Pcs. 1,050

Art. # Description Size Qty.

04682022 O-Ring AS-211 1-3/16x9/64 25

04681713 O-Ring AS-115 1-1/16x7/64 25

04682182 O-Ring AS-212 7/8x9/64 25

04681864 O-Ring AS-210 3/4x9/64 25

04681872 O-Ring AS-116 3/4x7/64 25

04681554 O-Ring AS-114 5/8x7/64 50

04681395 O-Ring AS-113 9/16x7/64 50

04681237 O-Ring AS-112 1/2x7/64 50

04681078 O-Ring AS-111 7/16x7/64 50

0468919 O-Ring AS-110 3/8x7/64 50

0468925 O-Ring AS-012 3/8x5/64 50

04682340 O-Ring AS-213 5/16x9/64 25

0468766 O-Ring AS-011 5/16x5/64 100

0468607 O-Ring AS-010 1/4x5/64 100

0468528 O-Ring AS-009 7/32x5/64 100

0468447 O-Ring AS-008 3/16x5/64 100

0468369 O-Ring AS-007 5/32x5/64 100

0468290 O-Ring AS-006 1/8x5/64 100

1964176474 - Total Pcs. 55

Art. # Description Qty.

0764943104 Ford Brown Orifice Tube 5

0764943103 Ford & Import Orange Orifice Tube 5

0764943102 Ford & Import Red Orifice Tube 5

0764943101 Ford & Import Blue Orifice Tube 5

0764943105 Ford & Inport Green Orifice Tube 5

0764943303 GM & Import Yellow/White Orifice Tube 5

0764943302 GM & Import black/White Orifice Tube 5

0764943301 GM & Import White Orifice Tube 5

0764942101 Chrysler Purple Orifice Tube 5

0764943304 GM Yellow/White Orifice Tube 5

0764941140 Ford Black/White Orifice Tube 5



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

66

GM MASTER AC O-RING ASSORTMENT

1964176406 - Total Pcs. 240

Art. # Description Qty.

076409011 #6 Hose Fitting/Filter Drier O-Ring 10

076409013 #8 Hose Fitting O-Ring 10

076409015 #10 Hose Fitting O-Ring 10

076409017 #12 Hose Fitting O-Ring 10

076409108 #6 Captive/Block Expansion Valve O-Ring 10

076409110 #8 GM Captive O-Ring 10

076409112 #10 GM Captive O-Ring 10

076409113 #12 GM Captive O-Ring 10

076409211 Service Valve O-Ring 10

076409905 GM 1/2” Dual Metric O-Ring 10

076409515 GM 5/8” Dual Metric O-Ring 10

076409640 GM 3/4” Dual Metric O-Ring 10

076409118 GM Compressor Switch Port O-Ring 10

076409903 Orifice Tube/Capillary Tube O-Ring 10

0764912760 GM Compressor Thick Retrofit Sealing Washer - Green 10

0764912761 GM Compressor Thick Retrofit Sealing Washer - Red 10

0764912762 GM Compressor Thick Retrofit Sealing Washer - Yellow 10

0764912889 GM 5/8” I.D. Thin Stepped Block Sealing Washer 10

0764912638 GM 5/8” I.D. Thick Compressor Sealing Washer - Black 10

0764912639 GM 5/8” I.D. Thin Compressor Sealing Washer - Silver 10

0764912640 GM 5/8” I.D. Thin Compressor Sealing Washer - Silver 10

0764962454 GM 3/4” I.D. Thin Compressor Sealing Washer - Silver 10

0764962455 GM Dual O-Ring Connection Metal Backup Gasket #8 (1/2) 10

0764962456 GM Dual O-Ring Connection Metal Backup Gasket #12 (3/4) 10



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

67

FORD MASTER AC O-RING  ASSORTMENT

CHRYSLER MASTER AC O-RING  ASSORTMENT

1964176407 - Total Pcs. 201
Art. # Description Qty.

0764963203 York Rotoloc Teflon Seal 10
0764931596 #12 FD Springlock Garter SP 5
0764931594 #10 FD Springlock Garter SP 5
0764931592 #8 FD Springlock Garter SP 5
0764931590 #6 FD Springlock Garter SP 5
0764092122 FD Press Cycling Switch O-Ring 10
0764090180 FD FS6 Hose/Hota Service O-Ring 10
076409910 Nippondenso Service Valve O-Ring 10
076409211 GM A6/DA6/HR6/V5 Valve O-Ring 10
076409116 FD FS6 Hose/Hota Service O-Ring 10
076409115 O-Ring Sand.Diesel/Kiki Compr Sctn Port Green 10
076409114 O-Ring Nissan/Honda/Imp. Condensor & Compressor Liq Ln G 10
0764091655 #12 FD Metric Springlock O-Ring 10
076409017 #12 FD Springlock/Hose O-Ring 10
0764091355 #10 FD Springlock O-Ring 10
076409015 #10 FD Springlock Hose O-Ring 10
0764091055 #8 Ford Metric Springlock O-Ring 10
076409013 #8 Ford Springlock Hose O-Ring 10
076409012 #6 Compression Fitting O-Ring 10
0764091155 #6 Compression Fitting O-Ring 10
076409011 #6 Ford Metric Springlock O-Ring 10
076409008 Capillary Tube O-Ring Green 10
0892764029 POE Oil R12 & R134 1/8oz. Tube 1

1964176408 - Total Pcs. 181
Art. # Description Qty.

076409008 Capillary Tube O-Ring 10
076409011 #6 Ford Sprinklock 10
076409012 #6 Compression Fitting O-Ring 10
076409013 #8 Ford Springlock Hose O-Ring 10
0764091355 #10 Ford Metric Springlock O-Ring 10
076409014 #8 Compression Fitting O-Ring 10
076409015 #10 Ford Springlock Hose O-Ring 10
076409017 #12 Ford Springlock Hose O-Ring 10
076409105 O-Ring Chrysler Metric Manifold Green 10
076409109 O-Ring Nissan/Calsonic Captive Green 10
0764091136 O-Ring Nissan Calsonic Green 10
076409910 Nippondenso Service Valve O-Ring 10
0764091155 #6 Ford Metric Springlock O-Ring 10
0892764029 POE Oil R12 & R134A 1
0764091655 #12 Ford Metric Springlock O-Ring 10
0764962464 Filter Drier Block Gasket sm Hole 5
0764962424 Chysler Suction Port Gasket 5
0764962430 Chrysler C171/A590 Port Gasket 5
0764962420 Chrysler Suc/Liq Line Gasket 5
0764962422 Chrysler Condenser Block Gasket 5
0764962426 Chrysler Expansion Valve Gasket 5
0764962453 Chrysler Black Expansion Valve Gasket 5
0764962428 Filter Drier Black Gasket 5



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

68

ASIAN/STANDARD AC O-RING ASSORTMENT - 2 DRAWERS

1964176410 (box 1) - Total Pcs. 240
Art. # Description Qty.

076409065 Nissan, Calsonic Metric Service O-Ring (OEM# 92470-N8210) 10
076409117 Sanden TRF105, TRS105 Suction Port O-Ring 10
0764091165 Nissan/Calsonice Compressor Discharge O-Ring 92474-N8210 10
076409116 Nippondenso 10P Comp. Suct. & Discharge Port O-Ring 10
076409115 Diesel Kiki DKS13G, 17G Discharge Port O-Ring 10
0764091143 Nissan, Calsonic R-134a Service O-Ring (OEM#92475-72L00) 10
076409114 Sanden Compressor Pad Mount Discharge O-Ring 10
0764091136 Nissan, Calsonic R-134a Service O-Ring (OEM#92473-N8210) 10
0764091124 Nissan, Calsonic R-134a Service O-Ring (OEM#92475-71L00) 10
076409111 Nissan 12mm & Hitachi Compressor Discharge O-Ring 10
076409109 Nissan, Calsonic R-134a Service O-Ring (OEM#92473-N8210) 10
0764091655 Ford No. 12 Metric Springlock O-Ring (OEM#391305-S100) 10
076409017 No. 12 Hose Fitting O-Ring 10
076409016 GM No. 12 Hose Fitting O-Ring 10
0764091055 Ford. No. 8 Metric Springlock O-Ring (OEM#391397-S100) 10
076409015 No. 10 Hose Fitting O-Ring 10
076409014 No. 8 Compression Fitting O-Ring 10
0764091355 Ford No. 10 Metric Springlock O-Ring (OEM#W701994-S) 10
076409013 No. 8 Hose Fitting O-Ring 10
076409012 GM & Ford Pressure Cycling Switch O-Ring (non-metric) 10
0764091155 Ford & Import No. 6 Metric Springlock Fitting O-Ring 10
076409011 No. 6 Hose Fitting & Filter Drier O-Ring 10
076409010 Nissan 8mm Switch, Liquid Line, STV, Expansion Valve O-Ring 10
076409008 Capillary Tube O-Ring 10

1964176410 (box 2) - Total Pcs. 240
Art. # Description Qty.

0764941095 Condensor 11mm O-Ring For U.S & Import Vehicles   10
0764941120 Nippon. 7SB16C Suction Fitting, Chrysler RV2 Discharge O-Ring 10
0764941121 Daewoo Service O-Ring (OEM#09280-19001) 10
0764941122 Daewoo Service O-Ring (OEM#09280-08001) 10
0764941123 Daewoo Service O-Ring (OEM#09280-18002) 10
0764941124 Toyota Service O-Ring (OEM#90099-14122) 10
0764941125 Toyota Service O-Ring 10
0764941126 Hyundai Service O-Ring (OEM#97612-29000) 10
0764941127 Hyundai Service O-Ring (OEM#97690-34310) 10
0764941128 Nissan Service O-Ring (OEM#N24622) 10
0764941129 Subaru/Mazda Filter Drier/Service O-Ring 10
0764941130 Honda/Acura/Lexus/ Toyota Service Valve O-Ring 10
0764941131 Import Service Valve O-Ring 10
0764941132 Import Suction Flange O-Ring 10
0764941133 Import Discharge Flange O-Ring 10
0764941134 Import Service Valve O-Ring 10
0764941135 Import Service Valve O-Ring 10
0764941136 Import Service Valve O-Ring 10
0764092122 Ford R-134a Pressure Cycling Switch O-Ring 10
076409102 7mm Toyot/Import Hose Fitting/Drier O-Ring 10
076409910 Misc. Import/Domestic Compressor Service Port O-Ring 10
076409902 Nissan 16mm Hose Fitting O-Ring 10
076409212 GM R4 Service Valve O-Ring 1987 & prior 10
076409211 GM A6, DA6, HR6, V5 Service Valve O-Ring - 1987 & prior 10



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

69

EURO STANDARD/METRIC AC O-RING ASSORTMENT - 2 DRAWERS

1964176409 (box 1) - Total Pcs. 240
Art. # Description Qty.

0764963203 York/Tech Rotoloc Teflon 10
076409103 GM Orifice Tube O-Ring 10
076409102 7mm Toyota/Import Hose Fitting/Drier O-Ring 10
076409910 Misc. Import/Domestic Compressor Service Port O-Ring 10
076409902 Nissan 16mm Hose Fitting O-Ring 10
076409901 Nissan 6mm STV, Expansion Valve O-Ring 10
076409212 GM R4 Service Valve O-Ring - 1987 & Prior 10
076409211 GM A6, DA6, HR6, V5 Service Valve O-Ring - 1987 & Prior 10
076409175 Mercedes Service O-Ring (OEM#140-997-09-45) 10
076409145 Nihon DKV14C Discharge Port O-Ring 10
076409117 Sanden TRF105, TRS105 Suction Port O-Ring 10
076409116 Nippondenso 10P Comp. Suct. & Discharge Port O-Ring 10
076409115 Diesel Kiki DKS13G, 17G, Discharge Port O-Ring 10
076409114 Sanden Compressor Pad Mount Discharge O-Ring 10
076409017 #12 Fitting O-Ring 10
076409015 #10 Fitting O-Ring 10
076409013 #8 Fitting O-Ring 10
076409012 GM & Ford Pressure Cycling Switch O-Ring (Non-Metric) 10
0764091150 Mercedes R-134a Service O-Ring (OEM#140-997-07-45) 10
076409011 No. 6 Hose Fitting & Filter Drier O-Ring 10
076409010 Nissan 8mm Switch,Liquid Line,STV,Exp. Valve 10
076409009 Porsche R--134a Service O-Ring 10
076409008 Capillary Tube O-Ring 10
076409007 Mercedes R-134a Service O-Ring 10

1964176409 (box 2) - Total Pcs. 190
Art. # Description Qty.

0764941095 Condenser 11mm O-Ring for US & Import Vehicles 10
0764941096 Chrysler Mini Van Suction O-Ring (OEM#4885094AA) 10
0764941097 Chrysler Service O-Ring (OEM#05073616AA) 10
0764941101 Volvo Service O-Ring (OEM#6848027-6) 10
0764941102 Volvo Service O-Ring 10
0764941103 Volvo Service O-Ring (OEM#3545416) 10
0764941104 Volvo Service O-Ring (OEM#6847526) 10
0764941105 Volvo Service O-Ring (OEM#3515628) 10
0764941106 Volvo Service O-Ring (OEM#3545441) 10
0764941107 VW/Audi Service O-Ring 10
0764941108 Jaguar Service O-Ring (OEM#KSG108116) 10
0764941109 Jaguar Service O-Ring (OEM#KSG111116) 10
0764941110 Jaguar Service O-Ring (OEM#XR810305) 10
0764941111 Jaguar Service O-Ring 10
0764941112 Range Rover Service O-Ring (OEM#JUU100220) 10
0764941113 Seat Service O-Ring (OEM#7MO820749B) 10
0764941116 Ford Service O-Ring - Europe 10
0764941117 Audi/Volkswagen Service Port O-Ring 10
0764941118 Opel/Saab Port O-Ring 10



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

70

SEALING WASHER ASSORTMENT

1964076502 - Total Pcs. 48
Art. # Description Qty.

0764912638 GM 5/8” I.D. Thick Comp. Sealing Washer - Black 4
0764912639 GM Chrysler 5/8” I.D. Thin Comp. Sealing Washer - Silver 4
0764912640 GM 3./4” I.D. Thin Compressor Sealing Washer - Silver 4
0764912760 GM Compressor Thick Retrofit Sealing Washer - Green 4
0764912761 GM Compressor Thick Retrofit Sealing Washer - Red 4
0764912762 GM Compressor Thick Retrofit Sealing Washer - Yellow 4
0764912825 Dodge Compressor Suction Port Sealing Washer - Silver 4
0764912826 Dodge Compressor Discharge Port Sealing Washer - Gold 4
0764912889 Chrysler,GM,Opel 5/8” I.D. Thin Stepped Block Sealing Washe 4
0764912160 Chrysler, GM, Opel 8mm Slim Line Block Sealing Washer 4
0764912161 Chrysler, GM, Opel 11mm Slim Line Block Sealing Washer 4
0764912162 GM 17mm Slim Line Block Sealing Washer 4



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

71

R12 TO R134 RETRO FIT ADAPTOR ASSORTMENT

AC SHRADER PORT CAP ASSORTMENT

1964176497 - Total Pcs. 51

Art. # Description Qty.

0764980955 90 Degree 16mm x 3/16” R-134a Adapter w/Cap & Valve Core 1

0764980953 90 Degree 16mm x 1/4” R-134a Adapter w/Cap & Valve Core 1

0764980954 90 Degree 13mm x 1/4” R-134a Adapter w/Cap & Valve Core 1

0764980995 16mm x 1/4” R-134a Adapter w/Cap & Valve Core   3

0764980997 16mm x 3/16” R-134a Adapter w/Cap & Valve Core 3

0764980996 13mm x 1/4” R-134a Adapter w/Cap & Valve Core 3

0764911129 GM Retrofit Primary Adapter w/Red Cap & Valve Core 16mm 3

0764951696 1/4” Block Off Cap 3

0764951697 3/16” Block Off Cap 3

0764016903 Standard R-134a Retrofit Label With Clear Plastic Cover 10

076477108 WURTH System Guard 10

07640170 WURTH System Guard Labels 10

1964176498 - Total Pcs. 152

Art. # Description Qty.

076400030 R-12 & R-134a Standard & High Flow Valve Core Tool 1
0764951664 16mm Black R-134a High Side Valve Port Cap Eaton SSV 5
0764951663 13mm Black R-134a Low Side Valve Port Cap Eaton SSV 5
0764951616 1/4” Black R-12 Valve Port Plastic Cap With Seal 10
0764951605 3/16” Black R-12 Valve Port Plastic Cap With Seal 10
0764951655 York/Tecumseh Service Valve Cap With Seal 5
0764951681 M10x1.25 Bell Hex Cap With Seal 5
0764951680 M12x1.5 Round Cap With Seal 5
0764951653 13mm Blue R-134a Low Side Valve Port Cap OEM & Aftermarket 10
0764951665 13mm Blue R-134a Low Side Valve Port Cap J.R.A. Type 5
0764951656 13mm Blue R-134a Low Side Valve Port Cap OEM Type 5
0764951654 16mm Red R-134a High Side Port Cap OEM & Aftermarket 10
0764951666 16mm Red R-134a High Side Valve Port Cap J.R.A. Type 5
0764951657 16mm Red R-134a High Side Valve Port Cap OEM Type 5
0764942531 R-134a JRA Import High Flow Valve Core (M6) 10
0764942565 R-12 & R-134a GM Large Bore High Flow 5
0764942894 R-12 & R-134a Renault France Standard Flow Valve Core (M5) 5
0764942528 R-12 & R-134a U.S. & Import Standard Flow Valve Core 10
0764942769 R-134a U.S. Eaton SSV High Flow Valve Core (M10) 5
0764942768 R-134a U.S. Eaton SSV High Flow Valve Core (M8) 5
0764942895 Peugeot & Volvo High Flow Valve Core (M8) 5
0764941137 OEM Type J.R.A. Low Side Valve Port Cap (M9-1.0) 10
0764941138 OEM Type J.R.A. High Side Valve Port Cap (M10-1.25) 10
0764941139 Eaton SSV M8 & M10 Valve Core Tool 1



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

72

BRASS PUSH TO CONNECT (PTC) D.O.T. AIR BRAKE FITTING ASSORTMENT

BRASS AIR BRAKE FITTING ASSORTMENT

196488501 - Total Pcs. 90
Art. # Description Tube Pipe Qty.

188501004 PTC D.O.T. Union Coupler 1/2 N/A 5
188501003 PTC D.O.T. Union Coupler 3/8 N/A 5
188501002 PTC D.O.T. Union Coupler 1/4 N/A 5
188502002 PTC D.O.T. Union Tee 3/8 N/A 2
188502001 PTC D.O.T. Union Tee 1/4 N/A 5
188504003 PTC D.O.T. Male Connector 1/4 1/4 5
188504002 PTC D.O.T. Male Connector 1/4 1/8 5
1885030003 PTC D.O.T. 90 ˚ Elbow-Tube 1/4 1/4 5
1885030001 PTC D.O.T. 90 ˚ Elbow-Tube 5/32 1/8 5
188504007 PTC D.O.T. Male Connector 3/8 3/8 5
188504006 PTC D.O.T. Male Connector 3/8 1/4 5
188504005 PTC D.O.T. Male Connector 3/8 1/8 5
1885030007 PTC Male 90 ˚ Elbow Tube 3/8 3/8 5
1885030006 PTC Male 90 ˚ Elbow Tube 3/8 1/4 5
188505002 PTC Male 45 ˚ Elbow Tube 3/8 3/8 5
188505001 PTC Male 45 ˚ Elbow Tube 3/8 1/4 5
188504011 PTC D.O.T. Male Connector 1/2 1/2 2
188504010 PTC D.O.T. Male Connector 1/2 3/8 2
1885030009 PTC Male 90 ˚ Elbow 1/2 1/2 2
1885030008 PTC Male 90 ˚ Elbow 1/2 3/8 2

196488401 - Total Pcs. 199
Art. # Description Tube Pipe Qty.

1884260003 D.O.T. Air Brake Sleeve 1/2 N/A 20
1884260002 D.O.T. Air Brake Sleeve 3/8 N/A 30
1884260001 D.O.T. Air Brake Sleeve 1/4 N/A 30
1884362003 D.O.T. Air Break Nut 1/2 N/A 5
1884362002 D.O.T. Air Break Nut 3/8 N/A 20
1884362001 D.O.T. Air Break Nut 1/4 N/A 20
1884010009 Air Brake Connector 1/2 3/8 5
1884010010 Air Brake Connector 1/2 1/2 5
1884010004 Air Brake Connector 3/4 1/8 5
1884010005 Air Brake Connector 3/8 1/4 5
1884010006 Air Brake Connector 3/8 3/8 5
1884010001 Air Brake Connector 1/4 1/8 5
1884010002 Air Brake Connector 1/4 1/4 5
1884321002 D.O.T Air Brake Tee 3/8 N/A 5
1884081004 D.O.T Air Brake Tee 3/8 1/4 5
1884321001 D.O.T Air Brake Tee 1/4 N/A 5
1884061003 D.O.T Air BrakeTee-End 3/8 1/4 2
1884061004 D.O.T Air BrakeTee-End 3/8 3/8 5
1884071001 Air Brake Tee Ends 3/8 3/8 2
1884150003 Air Brake 45 ˚ Elbow 3/8 1/4 5
1884150004 Air Brake 45 ˚ Elbow 3/8 3/8 5
1884041010 Air Brake 90 ˚ Elbow 1/2 1/2 5



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

73

BRASS FITTING ASSORTMENT

METRIC GREASE FITTING ASSORTMENT

196488402 - Total Pcs. 118

Art. # Description Pipe Qty.

1884092007 Hex Nipple MPT 1/2 5
1884092004 Hex Nipple MPT 3/8 5
1884092008 Hex Nipple MPT 1/4-1/8 5
1884092002 Hex Nipple MPT 1/4 5
1884092001 Hex Nipple MPT 1/8 5
1884060003 Brass Extruded Tee 3/8 2
1884060002 Brass Extruded Tee 1/4 3
1884060001 Brass Extruded Tee 1/8 3
1884058004 Brass Extruded 90 ˚ Street Elbow 1/2 5
1884058003 Brass Extruded 90 ˚ Street Elbow 3/8 5
1884058002 Brass Extruded 90 ˚ Street Elbow 1/4 5
1884058001 Brass Extruded 90 ˚ Street Elbow 1/8 5
1884057003 Brass Extruded 45 ˚ Street Elbow 3/8 5
1884057002 Brass Extruded 45 ˚ Street Elbow 1/4 5
1884057001 Brass Extruded 45 ˚ Street Elbow 1/8 5
1884082004 Brass Pipe Fitting 1/2 5
1884082003 Brass Pipe Fitting 3/8 5
1884082002 Brass Pipe Fitting 1/4 5
1884084005 Bushing MPT 1/2-1/4 5
1884084003 Bushing MPT 3/8-1/4 5
1884084001 Bushing MPT 1/4-1/8 10
1884090004 Cored Hex Plug 1/2 5
1884090003 Cored Hex Plug 3/8 5
1884090002 Cored Hex Plug 1/4 5

19640986 - Total Pcs. 110

Art. # Description Qty.

098640 Grease Fitting STRGT NIP 6x1 20

098641 Grease Fitting 8x1 STR 10

098660 Grease Fitting 6x1 90˚ 10

1986593 Grease Fitting  1/8 NPT 10

1986492 Grease Fitting 1/4-28 Self Thread 10

1986491 Grease Fitting 1/4-28 Straight 10

1986591 Grease Fitting 1/4-28 45 ˚ 10

1986691 Grease Fitting 1/4-28 90 ˚ 10

098650 Grease Fitting 6x1 45˚ 10

1986693 Grease Fitting 1/8 10



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

74

RIVET & NUTSERT ASSORTMENT

196400006 - Total Pcs. 1,550 (A/B Clip Assortment)

Art. # Description Pipe Qty.

09176 Thinsert Nutsert 6MM 25

09175 Thinsert Nutsert 5MM 25

1914131612 Button Head Rivet Large Flange 3/16X1/2 50

191411814 Button Head Rivet Large Flange 1/8X1/4 100

191431612 Aluminum Rivet 3/16X1/2 100

191431638 Aluminum Rivet 3/16X3/8 100

191431614 Aluminum Rivet 3/16X1/4 100

19141812 Aluminum Rivet 1/8x1/2 100

19141814 Aluminum Rivet 1/8x1/4 100

191418316 Aluminum Rivet 1/8x3/16 100

19141818 Aluminum Rivet 1/8x1/8 100

1914131638 Large Flange Aluminum 3/16x3/8 50

19351814 Steel Rivet 1/8x1/4 50

1948185 Plastic Rivet 6.6MM 50

1948186 Plastic Rivet 6.6MM 50

150159605 Plastic Rivet 6.3MM 50

150159603 Plastic Rivet 6.3MM 50

150159600 Plastic Rivet 5MM 50

150159601 Plastic Rivet 5MM 50

150159602 Plastic Rivet 5MM 50

150159405 Plastic Rivet 1/4 50

1948371 Window Regulator Rivet N/A 50

1948372 Door Handle Rivet N/A 50

150159225 Glass Stop Rivet 1/4 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

75

GREASE FITTING METRIC & STANDARD ASSORTMENT

DRILL BIT ASSORTMENT

19640986 - Total Pcs. 110

Art. # Description Qty.

098640 Grease Fittting STRGT NIP 6x1 20

098641 Grease Fitting 8x1 STR 10

098660 Grease Fitting 6x1 90 DEG 10

1986593 Grease Fitting 1/8NPT 10

1986492 Grease Fitting 1/4-28 SELF THREAD 10

1986491 Grease Fitting 1/4-28 STRAIGHT 10

1986591 Grease Fitting 1/4-28 45 DEG 10

1986691 Grease Fitting 1/4-28 90 DEG 10

1986693 Grease Fitting 1/8NPT 90 DEG 10

098650 Grease Fitting 6x1 45 DEG 10

1964627120 - Total Pcs. 120

Art. # Description Size Qty.

16270116 Black/Gold Bit 3 Flats 1/16 12

16270564 Black/Gold Bit 3 Flats 5/64 12

16270332 Black/Gold Bit 3 Flats 3/32 12

16270764 Black/Gold Bit 3 Flats 7/64 12

1627018 Black/Gold Bit 3 Flats 1/8 12

16270964 Black/Gold Bit 3 Flats 9/64 12

16270532 Black/Gold Bit 3 Flats 5/32 12

162701164 Black/Gold Bit 3 Flats 11/64 6

16270316 Black/Gold Bit 3 Flats 3/16 6

162701364 Black/Gold Bit 3 Flats 13/64 6

16270732 Black/Gold Bit 3 Flats 7/32 6

162701564 Black/Gold Bit 3 Flats 15/64 6

1627014 Black/Gold Bit 3 Flats 1/4 6



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

76

ALUMINUM RIVET ASSORTMENT

STEEL RIVET ASSORTMENT

19641914 - Total Pcs. 580

Art. # Description Dia.
Grip 
Range

Qty.

1914131612 Large Flange Aluminum 3/16 3/8-1/2 40

1914131638 Large Flange Aluminum 3/16 1/4-3/8 40

191411814 Large Flange Aluminum 1/8 1/64-1/8 50

191431612 Rivet Aluminum 3/16 3/8-1/2 50

191431614 Rivet Aluminum 3/16 1/64-1/4 50

191431638 Rivet Aluminum 3/16 1/4-3/8 50

19141812 Rivet Aluminum 1/8 3/8-1/2 50

19141814 Rivet Aluminum 1/8 3/16-1/4 50

19141818 Rivet Aluminum 1/8 1/16-1/8 50

191418316 Rivet Aluminum 1/8 1/8-3/16 50

19141838 Button Head Blind Rivet 1/8 5/16-3/8 50

091404850 Zebra Aluminum Rivet 3/16 1/4-7/16 50

19641935 - Total Pcs. 600

Art. # Description Dia.
Grip 
Range

Qty.

1935131638 Large Flange Steel 3/16 1/4-3/8 50

193511814 Large Flange Steel 1/8 1/64-1/8 50

193531638 Rivet Steel 3/16 1/4-3/8 50

193531614 Rivet Steel 3/16 1/8-1/4 50

19351812 Rivet Steel 1/8 3/8-1/2 50

19351838 Rivet Steel 1/8 5/16-3/8 50

193518516 Rivet Steel 1/8 1/4-5/16 50

19351814 Rivet Steel 1/8x3/8 3/16-1/4 50

19351818 Rivet Steel 1/8x1/4 1/16-1/8 50

193518316 Rivet Steel 1/8x5/16 1/8-3/16 50

193521814 Countersunk Steel 1/8x3/8 3/16-1/4 50

1935218316 Countersunk Steel 1/8x5/16 1/8-3/16 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

77

PLASTIC RIVET ASSORTMENT

NYLON NUT ASSORTMENT

19641948 - Total Pcs. 275

Art. # Description Diameter Grip Range Qty.

150155188 Blind Rivet 1/4 5/16-15/32 25

150159600 Plastic Rivet 13/64 1/6-11/64 50

150159601 Plastic Rivet 1/4 5/32-13/32 50

150159602 Plastic Rivet 13/64 15/64-25/64 50

150159605 Plastic Rivet 1/4 5/32-15/64 25

150159405 Plastic Rivet 6.3MM 5/32-13/32 25

1948185 Plastic Rivet 6.6MM 3/32-13-64 25

1948186 Plastic Rivet 6.6MM 3/32-13-64 25

1964150113 - Total Pcs. 350

Art. # Description Qty.

150159294 GM Panel Nut # 8 25

150159348 Ford License Plate Nut Nylon 25

150156021 Headlamp Bezel Nut GM 25

150159292 License Plate Nut GM 25

150156038 Adjusting Bezel Nut 25

150159288 License Plate Nut 25

150156011 Adjusting Nut 25

150159127 Ford Clip Size 8 or 10 Nut 25

150159315 Olds/AMC/Mitsubishi/GM License Plate Nut 25

150155052 Screw Grommet #6 25

150153010 Nylon Nut Side 25

150159088 License Plate Anchor Chevrolet #10 25

150155577 Toyota/Nissan Anchor Clip 25

150155028 Chrysler/AMC/Mitsubishi/GM License Plate Scre 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

78

U-NUT & BODY BOLT ASSORTMENT

PUSH NUT/WASHER ASSORTMENT

1964150114 - Total Pcs. 700

Art. # Description Size Qty.

150159280 Washer Lock Nut Zinc 10MM 50

150159282 Self Thread Nut Zinc M5X10X15 50

150159300 Self Thread Nut/Washer 5/16 50

150159360 Push Nut M6.3 50

150159397 Push Nut M6 50

150159192 Flat Push On Washer 1/4 50

150159194 Flat Push On Washer 3/16 50

150159247 Thread Cutting Nut 3/16W 3/8Hex 50

150159246 Thread Cutting Nut 1/4 7/16Wrench 50

150159244 Thread Cutting Nut 1/4 50

150159588 Thread Cutting Nut 3/16 Steel 50

150159245 Thread Cutting Nut 1/8 ID 5/16 Hex 50

150159322 Push On Retainer 5/16 50

150159321 Push On Retainer 5/16 50

1964150112 - Total Pcs. 285

Art. # Description Size Qty.

150159332 GM/Ford Extruded U Nut M10-1.5 10
150159330 GM/Ford Extruded U Nut M8-1.25 25
150159329 GM/Ford Extruded U Nut M6.3-1.0 25
150159365 GM Extruded U Nut M6-1.0 25
150159302 Ford/GM Extruded U Nut 3/8-16 10
150159331 Ford/GM Extruded U Nut M8-1.25 10
150159291 Ford Extruded U Nut 5/16-18 10
150159296 Hex Washer Bolt Cone 5/16-18 10
150159297 Hex Head w/Washer 1/4-20 25
150159333 Hex Head/Conical Washer 3/8-16X1 10
150159594 Hex Head Sems CL9.8 M6X1.0X25 25
150159039 Hex Head Sems CL9.8 5/16X1 25
150159359 Hex Head Sems CL9.8 M10X1.5X40 5
150159337 Hex Head Sems CL9.8 M8-1.25X30 10
150159343 Hex Head Sems CL9.8 M6.3X25 25
150159345 Hex Head Sems CL9.8 M8X1.25X25 10
150159346 Hex Head Sems CL9.8 1/4-20X7/8 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

79

XMAS TREE RETAINER CLIP ASSORTMENT

RETAINER CLIP ASSORTMENT

1964150115 - Total Pcs. 275

Art. # Description Qty.

150155045 Plastic Shield Retainer .780n 25

150155044 Rear Bumper Retainer 25

150155051 Pad Shield Clip Chrysler 25

150155054 Stone Shield Clip 25

150153052 Door Trim Panel Clip GM 25

150153070 GM Door Panel Clip 82-85 25

150155087 GM Stone Shield 82 ON 25

150155607 Panel Fastener 25

150155575 Clip Vinyl YL Shield Radiator 25

150155046 GM Trim Panel Retainer 25

150153047 Door Trim Panel Retainer 25

1964150117 - Total Pcs. 230

Art. # Description Qty.

150155087 Stone Shield 82 ON GM 10
150157011 Retainer Hood Insulation 10
150159598 Nissan Fender Rivet 10
150155603 Honda Bumper Facia Rivet 10
150157028 Hood Insulation Retainer 10
150155594 Bumper Cover Lexus 10
150155574 Front Bumper Clip Nissan 10
150155326 Rivet Drive 10
150157004 Hood Insulation Cup GM 10
150153141 Panel Retainer Yellow Nylon 10
150157033 Hood Insulator Retainer Ford 10
150155599 Black Plastic Retainer Explorer 10
150155606 Inner Panel Clip 10
150153216 Clip Door Trim Panel 10
150155035 Retaining Clip Honda 10
150155156 Screw Type Retainer 10
150155241 Rivet Drive Type 10
150153052 Door Trim Panel Clip GM 10
150155045 Plastic Shield Retainer 780N 10
150155051 PAD Shield Clip Chrysler 10
150155575 Clip Vinyl Shield Radiator 10
150155117 Front Fender Skirt 198ION GM 10
150155591 Radiator Grill Rivet GM 10



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

80

EUROPEAN CLIP ASSORTMENT

1964150010 - Total Pcs. 575

Art. # Description Size Qty.

050011761 Speed Clip 8MM 25

050011346 Speed Clip U 3.9MM 25

05001219 Speed Clip U 3.5MM 25

050011577 BMW Speed Clip 5.5MM 25

050011522 BMW/MB Speed Clip 4.8MM 25

050011745 BMW/MB Speed Clip U 4.2MM 25

050011182 BMW/MB/VW/Volvo 4.0MM 25

050011184 BMW/VW Speed Nut 2.5MM 25

050011347 BMW Speed Clip U 3.9MM 25

050011956 BMW Speed Clip U 2.9MM 25

050011427 MB Volvo Speed Clip 6.3MM 25

050011369 MB/ BMW/ Audi Speed Clip 6.5MM 25

050013219 MB Speed Clip 4.8MM 25

050013251 MB Speed Clip 4.2MM 25

050011362 MB Speed Clip U 4.2MM 25

050011751 MB Side Mould Button Red N/A 25

050013688 MB Door Panel Clip N/A 25

0500201404 MB Carpet Clip N/A 25

05009192 MB Plastic Rivet N/A 25

0501104035 MB Moulding Clip N/A 25

050052314 MB Radiator N/A 25

050011403 VW- OPEL Speed Clip 6.5MM 25

050013576 VW/Audi YL Spire Clip 4.8MM 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

81

GRADE 8.8 EUROPEAN ZINC METRIC HARDWARE ASSORTMENT

19650057 (w/bin) - 196500579 (w/out bin) - Total Pcs. 1,215
Art. # Description Size Qty.

00571250 Hex Head Bolt M12x50x1.75x19W 10

00571240 Hex Head Bolt M12x40x1.75x19W 10

00571230 Hex Head Bolt M12x30x1.75x19WR 10

00571050 Hex Head Bolt M10x50x1.5x17WR 10

00571040 Hex Head Bolt M10x40x1.5x17WR 10

00571030 Hex Head Bolt M10x30x1.5x17WR 10

00571020 Hex Head Bolt M10x20x1.5x17WR 10

0057850 Hex Head Bolt M8x50x1.25x13W 10

0057840 Hex Head Bolt M8x40x1.25x13WR 10

0057835 Hex Head Bolt M8x35x1.25x13WR 25

0057830 Hex Head Bolt M8x30x1.25x13WR 25

0057825 Hex Head Bolt M8x25x1.25x13WR 25

0057820 Hex Head Bolt M8x20x1.25x13WR 25

0057816 Hex Head Bolt M8x16x1.25x13WR 25

0057640 Hex Head Bolt M6x40x1.0x10WR 50

0057635 Hex Head Bolt M6x35x1.0x10WR 50

0057630 Hex Head Bolt M6x30x1.0x10WR 50

0057625 Hex Head Bolt M6x25x1.0x10WR 50

0057620 Hex Head Bolt M6x20x1.0x10WR 50

0057616 Hex Head Bolt M6x16x1.0x10WR 50

031712 Hex Nut M12x1.75X19WR 25

031710 Hex Nut M10x1.5x17WR 25

03178 Hex Nut M8x1.25X13WR 100

03176 Hex Nut M6x1.0x10WR 100

040712 Flat Washer M12 50

040710 Flat Washer M10 50

04078 Flat Washer M8 100

04076 Flat Washer M6 100

044112 Lock Washer M12 25

044110 Lock Washer M10 25

04418 Lock Washer M8 50

04416 Lock Washer M6 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

82

GRADE 8.8 EUROPEAN YELLOW METRIC STARTER ASSORTMENT

196500570 (w/bin) - 1965005709 (w/out bin) - Total Pcs. 1,145
Art. # Description Size Qty.

005701050 Hex Head Bolt M10x50x1.5x17W 10

005701040 Hex Head Bolt M10x40x1.5x17WR 10

005701030 Hex Head Bolt M10x30x1.5x17WR 10

005701025 Hex Head Bolt M10x25x1.5x17WR 10

005701020 Hex Head Bolt M10x20x1.5x17WR 10

00570850 Hex Head Bolt M8x50x1.5x13WR 10

00570840 Hex Head Bolt M8x40x1.25x13WR 10

00570835 Hex Head Bolt M8x35x1.25x13WR 25

00570830 Hex Head Bolt M8x30x1.25x13WR 25

00570825 Hex Head Bolt M8x25x1.25x13WR 25

00570820 Hex Head Bolt M8x20x1.25x13WR 25

00570816 Hex Head Bolt M8x16x1.25x13WR 25

00570640 Hex Head Bolt M6x40x1.0x10WR 50

00570635 Hex Head Bolt M6x35x1.0x10WR 50

00570630 Hex Head Bolt M6x30x1.0x10WR 50

00570625 Hex Head Bolt M6x25x1.0x10WR 50

00570620 Hex Head Bolt M6x20x1.0x10WR 50

00570616 Hex Head Bolt M6x16x1.0x10WR 50

00570612 Hex Head Bolt M6x12x1.0x10WR 50

0317010 Hex Nut M10x1.5x17WR 25

031708 Hex Nut M8x1.25x13WR 100

031706 Hex Nut M6x1.0x10W 100

0407010 Flat Washer M10 50

040708 Flat Washer M8 100

040706 Flat Washer M6 100

0441010 Lock Washer M10 25

044108 Lock Washer M8 50

044106 Lock Washer M6 50



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

83

GRADE 8.8 ISO (JAPANESE) ZINC METRIC HARDWARE ASSORTMENT

19650060 (w/bin) - 196500609 (w/out bin) - Total Pcs. 1,170
Art. # Description Size Qty.

10601250 Hex Head Bolt M12x1.25x17WRx50 10

10601240 Hex Head Bolt M12x1.25x17WRx40 10

10601230 Hex Head Bolt M12x1.25x17WRX30 10

10601050 Hex Head Bolt M10x1.25x14WRx50 10

10601040 Hex Head Bolt M10x1.25x14WRx40 10

10601030 Hex Head Bolt M10x1.25x14WRx30 10

10601020 Hex Head Bolt M10x1.25x14WRx20 10

1060840 Hex Head Bolt M8x1.25x12WRx40 25

1060835 Hex Head Bolt M8x1.25x12WRx35 25

1060830 Hex Head Bolt M8x1.25x12WRx30 25

1060820 Hex Head Bolt M8x1.25x12WRx20 25

1060825 Hex Head Bolt M8x1.25x12WRx25 25

0057650 Hex Head Bolt M6x50x1.0x10WR 50

0057645 Hex Head Bolt M6x45x1.0x10WR 50

0057640 Hex Head Bolt M6x40x1.0x10WR 50

0057635 Hex Head Bolt M6x35x1.0x10WR 50

0057630 Hex Head Bolt M6x30x1.0x10WR 50

0057625 Hex Head Bolt M6x25x1.0x10WR 50

0057620 Hex Head Bolt M6x20x1.0x10WR 50

0057616 Hex Head Bolt M6x16x1.0x10WR 50

031712171 Hex Nut M12x1.25x17WR 25

031710141 Hex Nut M10x1.25x14WR 25

0317812 Hex Nut M8x1.25x13WR 25

03176 Hex Nut M6X1.0X10WR 100

040712 Flat Washer M12 25

040710 Flat Washer M10 25

04078 Flat Washer M8 50

04076 Flat Washer M6 100

044112 Lock Washer M12 25

044110 Lock Washer M10 25

04418 Lock Washer M8 50

04416 Lock Washer M6 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

84

GRADE 8 USS YELLOW HARDWARE ASSORTMENT

19651076 (w/bin), 196510769 (w/out bin) - Total Pcs. 1,635

Art. # Description Size Qty.

1076122 USS Hex Bolt 1/2x2 10

107612112 USS Hex Bolt 1/2x1-1/2 10

1076121 USS Hex Bolt 1/2x1 10

10767162 USS Hex Bolt 7/16X2 10

1076716112 USS Hex Bolt 7/16X1-1/2 10

10767161 USS Hex Bolt 7/16X1 10

107638212 USS Hex Bolt 3/8x2-1/2 25

1076382 USS Hex Bolt 3/8x2 25

107638112 USS Hex Bolt 3/8x1-1/2 25

107638114 USS Hex Bolt 3/8x1-1/4 25

1076381 USS Hex Bolt 3/8x1 25

10763834 USS Hex Bolt 3/8x3/4 25

10765162 USS Hex Bolt 5/16X2 25

1076516112 USS Hex Bolt 5/16X1-1/2 25

1076516114 USS Hex Bolt 5/16X1-1/4 25

10765161 USS Hex Bolt 5/16X1 25

107651634 USS Hex Bolt 5/16X3/4 25

107614112 USS Hex Bolt 1/4x1-1/2 25

1076141 USS Hex Bolt 1/4x1 25

10761434 USS Hex Bolt 1/4x3/4 25

10761412 USS Hex Bolt 1/4x1/2 25

133212 Hex Nut 1/2-13 50

1332716 Hex Nut 7/16-14 50

133238 Hex Nut 3/8-16 100

1332516 Hex Nut 5/16-18 100

133214 Hex Nut 1/4-20 100

14080212 Flat Washer 1/2 50

140802716 Flat Washer 7/16 50

14080238 Flat Washer 3/8 100

140802516 Flat Washer 5/16 100

14080214 Flat Washer 1/4 100

1442012 Lock Washer 1/2 50

14420716 Lock Washer 7/16 50

1442038 Lock Washer 3/8 100

14420516 Lock Washer 5/16 100

1442014 Lock Washer 1/4 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

85

GRADE 8 SAE YELLOW HARDWARE ASSORTMENT

19651075 (w/bin), 196510759 (w/out bin) - Total Pcs. 1,660

Art. # Description Size Qty.

1075122 Hex Head Bolt 1/2x2 10

107512112 Hex Head Bolt 1/2x1-1/2 10

1075121 Hex Head Bolt 1/2x1 10

10757162 Hex Head Bolt 7/16x2 10

1075716112 Hex Head Bolt 7/16x1-1/2 10

10757161 Hex Head Bolt 7/16x1 10

107571634 Hex Head Bolt 7/16x3/4 10

1075382 Hex Head Bolt 3/8x2 25

107538112 Hex Head Bolt 3/8x1-1/2 25

107538114 Hex Head Bolt 3/8x1-1/4 25

1075381 Hex Head Bolt 3/8x1 25

10753834 Hex Head Bolt 3/8x3/4 25

10755162 Hex Head Bolt 5/16x2 25

1075516112 Hex Head Bolt 5/16x1-1/2 25

1075516114 Hex Head Bolt 5/16x1-1/4 25

10755161 Hex Head Bolt 5/16x1 25

107551634 Hex Head Bolt 5/16x3/4 25

107514112 Hex Head Bolt 1/4x1-1/2 25

1075141 Hex Head Bolt 1/4x1 25

10751434 Hex Head Bolt 1/4x3/4 25

10751412 Hex Head Bolt 1/4x1/2 25

133312 Hex Nut 1/2-20 50

1333716 Hex Nut 7/16-20 50

133338 Hex Nut 3/8-24 100

1333516 Hex Nut 5/16-24 100

133314 Hex Nut 1/4-28 100

14080212 Flat Washer 1/2 50

140802716 Flat Washer 7/16 50

14080238 Flat Washer 3/8 100

140802516 Flat Washer 5/16 100

14080214 Flat Washer 1/4 100

1442012 Lock Washer 1/2 50

14420716 Lock Washer 7/16 50

1442038 Lock Washer 3/8 100

14420516 Lock Washer 5/16 100

1442014 Lock Washer 1/4 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

86

GRADE 5 SAE ZINC HARDWARE ASSORTMENT

19651071 (w/bin), 196510719 (w/out bin) - Total Pcs. 1,660

Art. # Description Size Qty.

007112212 Hex Head Bolt 1/2x2 1/2 10

0071122 Hex Head Bolt 1/2x2 10

007112112 Hex Head Bolt 1/2X1-1/2 10

00717162 Hex Head Bolt 7/16x2 10

0071716112 Hex Head Bolt 7/16x1-1/2 10

00717161 Hex Head Bolt 7/16x1 10

007171634 Hex Head Bolt 7/16x3/4 10

0071382 Hex Head Bolt 3/8x2 25

007138122 Hex Head Bolt 3/8x1 1/2 25

007138114 Hex Head Bolt 3/8x1 1/4 25

0071381 Hex Head Bolt 3/8x1 25

00713834 Hex Head Bolt 3/8x3/4 25

00715162 Hex Head Bolt 5/16x2 25

0071516112 Hex Head Bolt 5/16x1-1/2 25

0071516114 Hex Head Bolt 5/16x1-1/4 25

00715161 Hex Head Bolt 5/16x1 25

007151634 Hex Head Bolt 5/16x3/4 25

007114112 Hex Head Bolt 1/4x1-1/2 25

0071141 Hex Head Bolt 1/4x1 25

00711434 Hex Head Bolt 1/4x3/4 25

00711412 Hex Head Bolt 1/4x1/2 25

033112 Hex Nut 1/2-20 50

0331716 Hex Nut 7/16-20 50

033138 Hex Nut 3/8-24 100

0331516 Hex Nut 5/16-24 100

033114 Hex Nut 1/4-28 100

1407212 Flat Washer 1/2 50

14071716 Flat Washer 7/16 50

1407238 Flat Washer 3/8 100

14072516 Flat Washer 5/16 100

1407214 Flat Washer 1/4 100

044212 Lock Washer 1/2 50

0442716 Lock Washer 7/16 50

044238 Lock Washer 3/8 100

0442516 Lock Washer 5/16 100

044214 Lock Washer 1/4 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

87

GRADE 5 USS ZINC HARDWARE ASSORTMENT

19651072 (w/bin), 196510729 (w/out bin) - Total Pcs. 1,660

Art. # Description Size Qty.

0072122 Hex Head Bolt 1/2x2 10

007212112 Hex Head Bolt 1/2x1-1/2 10

0072121 Hex Head Bolt 1/2x1 10

00727162 Hex Head Bolt 7/16x2 10

0072716112 Hex Head Bolt 7/16X1-1/2 10

00727161 Hex Head Bolt 7/16x1 10

007238212 Hex Head Bolt 3/8x2-1/2 25

0072382 Hex Head Bolt 3/8x2 25

007238112 Hex Head Bolt 3/8x1-1/2 25

007238114 Hex Head Bolt 3/8x1-1/4 25

0072381 Hex Head Bolt 3/8x1 25

00723834 Hex Head Bolt 3/8x3/4 25

00725162 Hex Head Bolt 5/16x2 25

0072516114 Hex Head Bolt 5/16x1-1/4 25

00725161 Hex Head Bolt 5/16x1 25

0072516112 Hex Head Bolt 5/16x1-1/2 25

007251634 Hex Head Bolt 5/16x3/4 25

007214112 Hex Head Bolt 1/4x1-1/2 25

007214114 Hex Head Bolt 1/4x1-1/4 25

0072141 Hex Head Bolt 1/4x1 25

00721434 Hex Head Bolt 1/4x3/4 25

00721412 Hex Head Bolt 1/4x1/2 25

033012 Hex Nut 1/2x13 50

0330716 Hex Nut 7/16-14 50

033038 Hex Nut 3/8-16 100

0330516 Hex Nut 5/16-18 100

033014 Hex Nut 1/4-20 100

1407212 Flat Washer 1/2 50

14072716 Flat Washer 7/16 50

1407238 Flat Washer 3/8 100

14072516 Flat Washer 5/16 100

1407214 Flat Washer 1/4 100

044212 Lock Washer 1/2 50

0442716 Lock Washer 7/16 50

044238 Lock Washer 3/8 100

0442516 Lock Washer 5/16 100

044214 Lock Washer 1/4 100



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

88

IAW - SERIES STEEL WHEEL WEIGHTS

P - SERIES STEEL WHEEL WEIGHTS

196401211 / 19640121 - w/ Steel Wheel Weight Roll

Art. # Description Qty.

183012155 5 gram IAW 25

1830121510 10 gram IAW 25

1830121515 15 gram IAW 25

1830121520 20 gram IAW 25

1830121525 25 gram IAW 25

1830121530 30 gram IAW 25

1830121535 35 gram IAW 25

1830121540 40 gram IAW 25

1830121545 45 gram IAW 25

1830121550 50 gram IAW 25

1830121555 55 gram IAW 25

1830121560 60 gram IAW 25 

083014415 (1,000) 5g. Steel WW on roll 1

19640136 / 196401361 - w/ Steel Wheel Weight Roll

Art. # Description Qty.

1830136000 .25 oz. P-Series 25

1830136010 .50 oz. P-Series 25

1830136020 .75 oz. P-Series 25

1830136030 1 oz. P-Series 25

1830136040 1.25 oz. P-Series 25

1830136050 1.50 oz. P-Series 25

1830136060 1.75 oz. P-Series 25

1830136070 2 oz. P-Series 25

1830136080 2.25 oz. P-Series 25

1830136090 2.50 oz. P-Series 25

1830136100 2.75 oz. P-Series 25

1830136110 3 oz. P-Series 25

083014415  (1,000) 5g. Steel WW on Roll 1



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

89

MC - SERIES STEEL WHEEL WEIGHTS

FN - SERIES STEEL WHEEL WEIGHTS

19640135 / 196401351 - w/ Steel Wheel Weight Roll

Art. # Description Qty.

1830135000 .25 oz. MC-Series 25

1830135010 .50 oz. MC-Series 25

1830135020 .75 oz. MC-Series 25

1830135030 1 oz. MC-Series 25

1830135040 1.25 oz. MC-Series 25

1830135050 1.50 oz. MC-Series 25

1830135060 1.75 oz. MC-Series 25

1830135070 2 oz. MC-Series 25

1830135080 2.25 oz. MC-Series 25

1830135090 2.50 oz. MC-Series 25

1830135100 2.75 oz. MC-Series 25

1830135110 3 oz. MC-Series 25

083014415  (1,000) 5g. Steel WW on Roll 1

19640149 / 196401491 - w/ Steel Wheel Weight Roll

Art. # Description Qty.

1830149005 5 gram FN-Series 25

1830149010 10 gram FN-Series 25

1830149015 15 gram FN-Series 25

1830149020 20 gram FN-Series 25

1830149025 25 gram FN-Series 25

1830149030 30 gram FN-Series 25

1830149035 35 gram FN-Series 25

1830149040 40 gram FN-Series 25

1830149045 45 gram FN-Series 25

1830149050 50 gram FN-Series 25

1830149055 55 gram FN-Series 25

1830149060 60 gram FN-Series 25

083014415  (1,000) 5g. Steel WW on Roll 1



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

90

T - SERIES STEEL WHEEL WEIGHTS

AW - SERIES STEEL WHEEL WEIGHTS

19640158 / 196401581 - w/ Steel Wheel Weight Roll

Art. # Description Qty.

1830158000 .25 oz. T-Series 25

1830158010 .50 oz. T-Series 25

1830158020 .75 oz. T-Series 25

1830158030 1 oz. T-Series 25

1830158040 1.25 oz. T-Series 25

1830158050 1.50 oz. T-Series 25

1830158060 1.75 oz. T-Series 25

1830158070 2 oz. T-Series 25

1830158080 2.25 oz. T-Series 25

1830158090 2.50 oz. T-Series 25

1830158100 2.75 oz. T-Series 25

1830158110 3 oz. T-Series 25

083014415  (1,000) 5g. Steel WW on Roll 1

1964830137

Art. # Description Qty.

1830137025 .25 oz. AW Steel 25

1830137050 .50 oz. AW Steel 25

1830137075 .75 oz. AW Steel 25

1830137100 1 oz. AW Steel 25

1830137125 1.25 oz. AW Steel 25

1830137150 1.50 oz. AW Steel 25

1830137175 1.75 oz. AW Steel 25

1830137200 2 oz. AW Steel 25

1830137225 2.25 oz. AW Steel 25

1830137250 2.50 oz. AW Steel 25

1830137275 2.75 oz. AW Steel 25

1830137300 3 oz. AW Steel 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

91

EN - SERIES STEEL WHEEL WEIGHTS

LH COATED - SERIES STEEL WHEEL WEIGHTS

1964830139

Art. # Description Qty.

1830139010 10 gr. EN Steel 25

1830139015 15 gr. EN Steel 25

1830139020 20 gr. EN Steel 25

1830139025 25 gr. EN Steel 25

1830139030 30 gr. EN Steel 25

1830139035 35 gr. EN Steel 25

1830139040 40 gr. EN Steel 25

1830139045 45 gr. EN Steel 25

1830139050 50 gr. EN Steel 25

1830139055 55 gr. EN Steel 25

1830139060 60 gr. EN Steel 25

1964830240

Art. # Description Qty.

1830240025 .25 oz. LH Type Zinc 25

1830240050 .50 oz. LH Type Zinc 25

1830240075 .75 oz. LH Type Zinc 25

1830240100 1 oz. LH Type Zinc 25

1830240125 1.25 oz. LH Type Zinc 25

1830240150 1.50 oz. LH Type Zinc 25

1830240175 1.75 oz. LH Type Zinc 25

1830240200 2 oz. LH Type Zinc 25

1830240225 2.25 oz. LH Type Zinc 25

1830240250 2.50 oz. LH Type Zinc 25

1830240275 2.75 oz. LH Type Zinc 25

1830240300 3 oz. LH Type Zinc 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

92

LT1 COATED - SERIES STEEL WHEEL WEIGHTS

IAL - SERIES ZINC WHEEL WEIGHTS

1964830292

Art. # Description Qty.

1830292050 .50 oz. LT1 Zinc 25

1830292100 1 oz. LT1 Zinc 25

1830292150 1.50 oz. LT1 Zinc 25

1830292200 2 oz. LT1 Zinc 25

1830292250 2.50 oz. LT1 Zinc 25

1830292300 3 oz. LT1 Zinc 25

1830292350 3.50 oz. LT1 Zinc 25

1830292400 4 oz. LT1 Zinc 25

1830292450 4.50 oz. LT1 Zinc 25

1830292500 5 oz. LT1 Zinc 25

196483062

Art. # Description Qty.

08306205 5 gr. IAL Zinc 25

08306210 10 gr. IAL Zinc 25

08306215 15 gr. IAL Zinc 25

08306220 20 gr. IAL Zinc 25

08306225 25 gr. IAL Zinc 25

08306230 30 gr. IAL Zinc 25

08306235 35 gr. IAL Zinc 25

08306240 40 gr. IAL Zinc 25

08306245 45 gr. IAL Zinc 25

08306250 50 gr. IAL Zinc 25

08306255 55 gr. IAL Zinc 25

08306260 60 gr. IAL Zinc 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

93

RUC SPECIALTY ADHESIVE - SERIES ZINC WHEEL WEIGHTS

BMN 2 PC. COATED - SERIES ZINC WHEEL WEIGHTS

1964830912

Art. # Description Qty.

08309125 5 gr. RUC Zinc 25

083091210 10 gr. RUC Zinc 25

083091215 15 gr. RUC Zinc 25

083091220 20 gr. RUC Zinc 25

083091225 25 gr. RUC Zinc 25

083091230 30 gr. RUC Zinc 25

083091235 35 gr. RUC Zinc 25

083091240 40 gr. RUC Zinc 25

083091245 45 gr. RUC Zinc 25

083091250 50 gr. RUC Zinc 25

083091255 55 gr. RUC Zinc 25

083091260 60 gr. RUC Zinc 25

1964830741

Art. # Description Qty.

08307451 5 gr. w/ clip BMN Zinc 25

083074101 10 gr. w/ clip BMN Zinc 25

083074151 15 gr. w/ clip BMN Zinc 25

083074201 20 gr. w/ clip BMN Zinc 25

083074251 25 gr. w/ clip BMN Zinc 25

083074301 30 gr. w/ clip BMN Zinc 25

083074351 35 gr. w/ clip BMN Zinc 25

083074401 40 gr. w/ clip BMN Zinc 25

083074451 45 gr. w/ clip BMN Zinc 25

083074501 50 gr. w/ clip BMN Zinc 25

083074551 55 gr. w/ clip BMN Zinc 25

083074601 60 gr. w/ clip BMN Zinc 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

94

MBN 2 PC. COATED - SERIES ZINC WHEEL WEIGHTS

196483075

Art. # Description Qty.

 08307551 5 gr. w/ clip MBN Zinc 25

083075101 10 gr. w/ clip MBN Zinc 25

083075151 15 gr. w/ clip MBN Zinc 25

083075201 20 gr. w/ clip MBN Zinc 25

083075251 25 gr. w/ clip MBN Zinc 25

083075301 30 gr. w/ clip MBN Zinc 25

083075351 35 gr. w/ clip MBN Zinc 25

083075401 40 gr. w/ clip MBN Zinc 25

083075451 45 gr. w/ clip MBN Zinc 25

083075501 50 gr. w/ clip MBN Zinc 25

083075551 55 gr. w/ clip MBN Zinc 25

083075601 60 gr. w/ clip MBN Zinc 25



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

95

DRILL BIT DISPENSER PACKAGES

196424751
Art. # Description Qty.
1627018 Ultra Bor Bit 3 Flats 1/8 2

16270316 Ultra Bor Bit 3 Flats 3/16 2

1627014 Ultra Bor Bit 3 Flats 1/4 2

162701764 Ultra Bor Bit 3 Flats 17/64 2

16270516 Ultra Bor Bit 3 Flats 5/16 2

1627038 Ultra Bor Bit 3 Flats 3/8 2

16270716 Ultra Bor Bit 3 Flats 7/16 2

1627012 Ultra Bor Bit 3 Flats 1/2 2

Drill Bit Dispenser 1

196424753
Art. # Description Qty.
162701764 Ultra Bor Bit 3 Flats 17/64 2

16270932 Ultra Bor Bit 3 Flats 9/32 2

162701964 Ultra Bor Bit 3 Flats 19/64 2

16270516 Ultra Bor Bit 3 Flats 5/16 2

162702164 Ultra Bor Bit 3 Flats 21/64 2

162701132 Ultra Bor Bit 3 Flats 11/32 2

162702364 Ultra Bor Bit 3 Flats 23/64 2

1627038 Ultra Bor Bit 3 Flats 3/8 2

162702564 Ultra Bor Bit 3 Flats 25/64 2

Drill Bit Dispenser 1

196424754
Art. # Description Qty.
162701332 Ultra Bor Bit 3 Flats 13/32 1

162702764 Ultra Bor Bit 3 Flats 27/64 1

16270716 Ultra Bor Bit 3 Flats 7/16 1

162702964 Ultra Bor Bit 3 Flats 29/64 1

162701532 Ultra Bor Bit 3 Flats 15/32 1

162703164 Ultra Bor Bit 3 Flats 31/64 1

1627012 Ultra Bor Bit 3 Flats 1/2 1

Drill Bit Dispenser 1
196424756
Art. # Description Qty.
1627018 Ultra Bor Bit 3 Flats 1/8 1

16270316 Ultra Bor Bit 3 Flats 3/16 1

1627014 Ultra Bor Bit 3 Flats 1/4 1

162701764 Ultra Bor Bit 3 Flats 17/64 1

16270516 Ultra Bor Bit 3 Flats 5/16 1

1627038 Ultra Bor Bit 3 Flats 3/8 1

Drill Bit Dispenser 1

196424752
Art. # Description Qty.
16270332 Ultra Bor Bit 3 Flats 3/32 4

16270764 Ultra Bor Bit 3 Flats 7/64 4

1627018 Ultra Bor Bit 3 Flats 1/8 4

16270964 Ultra Bor Bit 3 Flats 9/64 4

16270532 Ultra Bor Bit 3 Flats 5/32 4

162701164 Ultra Bor Bit 3 Flats 11/64 4

16270316 Ultra Bor Bit 3 Flats 3/16 4

162701364 Ultra Bor Bit 3 Flats 13/64 4

16270732 Ultra Bor Bit 3 Flats 7/32 4

162701564 Ultra Bor Bit 3 Flats 15/64 4

1627014 Ultra Bor Bit 3 Flats 1/4 4

Drill Bit Dispenser 1

Art. # Description Qty.

195513000 Drill Bit Dispenser 1

Performance Features:
•   M7 Industrial Steel withstands high temperatures, maintains sharpness
•   135˚ Split Point for fast penetration and accurate starting without center punch
•   Precision ground point flutes, body, clearance and drill diameter for the ultimate in accuracy and performance
•  Black and bronze oxide surface treatments reduce friction
•   Especially designed for hand held drills
•   3-flat shank design eliminates slippage and provides a positive grip
•   Ideal for drilling in high carbon steel, stainless steel and other hard metal drilling applications

Ultra Bor Super Premium 
(3 Flats on Shank-3/16” & larger)



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

96

LARGE ASSORTMENT BOX & INSERTS

Description Art #

1 Large Box w/ 6 Compartment Tray 09559502

2 Large Box w/ 12 Compartment Tray 195523012

3 Large Box w/ 16 Compartment Tray 195523016

4 Large Box w/ 20 Compartment Tray 195523020

5 Large Box w/ 24 Compartment Tray 195523024

6 Large Box w/ 32 Compartment Tray 195523032

7 Large Box w/ Adjustable Box Inserts 195523013

8 Large Box w/ Expandable Inserts 195523014

9 Extra Dividers (9 pack) for 195523013 195523011

1 2 3

4 5 6

• Organize and individualize your parts inventory to save time  
 and money
• Various inserts offer a variety of compartments to organize parts
• A blank schematic is included within the assortment box
• Handle for easy transporting to work site

• Assortment boxes have positive latch locks to prevent loss of small  
 pieces
• Assortment boxes are made of prime cold rolled steel with an  
 acid/rust resistant black baked enamel finish
• Rounded scoops enables easy removal of small parts

7 98



©
 2

01
3 

W
ur

th
 U

SA
, I

nc
. 

Re
vis

io
n 

06
/2

01
5 

- A
ss

or
tm

en
t B

oo
k_

Ar
t. 

#1
ST

A3
07

97

97

STORAGE

Description Width Height Depth
Drawer 
Width

Drawer 
Height

Drawer 
Depth

Extra
Dividers Stand Base Art #

1 9 Drawer  
Storage Cabinet

17-1/4" 10-7/8" 11-5/8" 5-3/8" 2-3/4" 11-1/4" 196691 19669

2 Utility Storage Cabinet 19-7/8" 32-3/4" 14-1/4" 19665

3 4 Drawer Cabinet 20" 15" 15-3/4" 19551041 1955104

4 18 Comp. Storage Bin 24" 12-3/4" 4-3/4" 19662

5 36 Comp. Storage Bin 24" 24" 4-3/4" 19661

6 Bulb Rack 19” 26-3/4” 4” 1966720

Clear Plastic Replacement Tray For Bulb Rack (above) 19667211

7

40 Comp. Storage Bin - 
9" Deep

33-3/4" 22-1/2" 9" 4" 4-1/2" 1966801 196640

40 Comp. Storage Bin - 
12" Deep

33-3/4" 22-1/2" 12" 4" 4-1/2" 1966131 196613

1

4

5 7

2 3

Stand Base Sold Separately

Stand Base  
Sold Separately

6



WURTH USA ASSORTMENTS

Wurth USA Inc.
93 Grant Street • Ramsey, NJ 07446
1-800 WURTH USA (987-8487)
www.wurthusa.com

© Wurth USA Inc. 2015
Printed in New Jersey
The information enclosed is privileged and confidential property of Wurth USA, Inc.  
Any dissemination, distribution or copying of this communication is strictly prohibited.


